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FOREWORD

The National Examinations Council of Tanzania (NECTA) presents the
Candidates’ Item Response Analysis Report (CIRA) for the Advanced Certificate
of Secondary Education Examination (ACSEE) in the Arabic Language subject
which was done in May, 2023. This report intends to provide feedback to all
education stakeholders on the factors which influenced the candidates’
performance in the subject.

The candidates’ performance in the ACSEE 2023 for the Arabic subject was good
as 76.99 per cent of the candidates passed in different grades. The candidates who
attained high scores had adequate knowledge of sub-topics from which the
questions were set. They also had good command of the Arabic Language, and
interpreted correctly the demands of the questions. However, the candidates who
scored low marks faced difficulties in responding to the questions due to such
factors as insufficient knowledge of the sub-topics from which the questions were
set, failure to identify or understand the demands of the questions and poor mastery
of Arabic Language.

It is expected that all educational stakeholders will use the feedback provided and
recommendations suggested in this report to improve the teaching and learning to
the prospective candidates in the future examinations administered by the Council.

The Council would like to appreciate the examinations officers, statisticians, and
all who participated in writing this report.

a5

Dr Said Ally Mohamed
EXECUTIVE SECRETARY
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1.0

INTRODUCTION

This report analyses the candidates’ performance in the 125 Arabic Language
subject for the Advanced Certificate of Secondary Education Examination
(ACSEE) which was conducted in May, 2023.

The candidates who sat for the Arabic Language examination in May 2023 were
100 out of which 97.00 per cent passed and 3.00 per cent failed. Yet, in May
2022, 219 out of which 93.61 per cent passed and 6.39 failed. These results
indicate that the 2023 performance has increased by 3.39 per cent compared to
the performance in 2022.

The Arabic Language examination consisted of two (2) papers, namely 125/1
Arabic Language paper 1 and 125/2 Arabic Language paper 2. Each paper had
eight (8) questions distributed a cross Sections A and B. The candidates were
required to choose four (4) questions in Section A and two (2) questions in
Section B. Each question in Section A carried fifteen (15) marks while each
question in Section B carried twenty (20) marks. The aim was to test the
candidates’ Arabic Language skills in Comprehension, Grammar, Language
use, Morphology, Composition, Rhetoric, Response to readings and Literature.

The candidates’ performance on each question is presented by indicating the
task of each question, the expected responses and how the candidates responded.
Samples of responses extracted from the candidates’ scripts have been presented
in order to show how the candidates responded in relation to the demands of
each item.

The analysis of the candidates’ performance per question is based on the three
categories, namely Good, Average and Weak. Good performance ranges from
60 to 100 per cent and it is represented by green colour. Average performance
ranges from 35 to 59 per cent and it is represented by yellow colour. Lastly,
weak performance ranges from 0 to 34 per cent and it is represented by red
colour. The candidates’ performance on each topic is summarised in the
appendix.



2.0 ANALYSIS OF THE CANDIDATES’ RESPONSES IN EACH QUESTION
IN ARABIC LANGUAGE PAPER 1

2.1 Section A: Short Answer Questions

This section had five questions. The candidates were required to attempt four
(4) questions. Each question weighed fifteen (15) marks, making a total of 60
marks for the whole section.

2.1.1 Question 1: Reading Passage and Answering Questions

This question had two parts, (a) and (b). The question was set from the
topic of Comprehension. It tested the candidates’ ability to read and
comprehend the given passage.

In part (a), the candidates were required to read the passage and answer
the following five (5) items.

(1) (flgiled Ljio b Loy G0 Und (g oy foluwisll ) “Who is Al-
khansau?” And what tribe is she from? And what is the status of
her tribe?

(2) (£ il gy 5_elit o3s il filaly o Ludsd/ LalS e JiLe) “What does the
word Al-khansau mean, and why was this poetess given this title?

(3) (foluisd/ s/ sun JiF i0) “When was Al-khansau’s brother Sakhra
killed?”

(4) (dsles ) a SiST | pa WSS ¢ Ludl] cunf fiLeh) “Why did Al-khansau
love her brother Sakhra more than her brother Muawiyah?”

(5) (FMidll 6 L)Y lgili] g pmar poill Cpla Lol pLuisd] Jof L) “What did
Al-kansau say when the obituary of her four fighting sons come?”

In part (b), the candidates were instructed to analyse each of the
underlined word according to its position in the sentence from the
passage in part (a).

The question was attempted by 49 (49.00%) candidates out of whom &
(16.33 %) scored from 0.5 to 5 marks; 24 (48.98 %) scored from 5.5 to
8.5 marks and 17 (34.69%) scored from 6.5 to 10 marks. The
candidates’ general performance on this question was good since 83.67
per cent of the candidates scored from 5.5 to 15 marks. The overall
performance on this question is presented in Figure 1.
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Figure 1: Candidates’ Performance on Question 1

The analysis of the candidates’ responses shows that the candidates
who performed well in this question understood the requirements of the
question well and hence, they provided correct answers to both parts (a)
and (b). For example, one of the candidates provided his/her answers to
the five items in part (a) as follows:

(1) ( S Lulala L 1o 4 5 -pbes U o 2 4] g pae iy ol 4 ¢ Ll
A el 6 iy o dlash) “Al-kansau is tamard, the daughter of
Amr bin Al-sharid, from the Salim tribe, and she is from a pre-
Islamic tribe with ancient glories in the pre-Islamic era”.

(2) (Lglland cailll igs 5 o Lid) oin Cuiily fin ol 5 pils (pmini ¢ Lisisd] LalS) “The
word Al-khansau means ‘buffalo’, and this poetess was given this
title because of her beauty.

(3) (s i ALt g arlas s Sy o il el (525] 8 o Laiil] gif i Sid)
“Sakhar, Al-khansau is brother, was killed in one of the battles of
the Salim tribe against the Bani Asad tribe”.

(4) (e 5ie Al Jad g 4dls (o (it Lo lganslil il 58) “Because Sakhar
shared what was left of his funds with her, and he did that several
times”.



(5) ( Jieia (b as (mimarny O 53 )5 oLy (il i (o) (i ) S o Liail) oMl
4iaa ) “Al-khansau said, 1 thank my lord, who honoured me by
killing them, and I hope that he will unite me with them in his
paradise”.

In part (b), the candidates correctly analysed the underlined words
according to their positions in the sentence from the given passage as
follows:

(1) (gsae e Ao Cighra 20050 5 cibsll 55 - 9/ sl) =235 4) “The word ‘and’
(s/s/) is a conjunction and (923«)is a Maatufu maj-ruru in the
genitive case.

(2) (lisa 34 5 igumio LSl i pLi =) “The word ‘Between’ (cx) is an
adverb of place in the accusative case and at the same time it is a
mudhafu.”

(3) (saio Jaf/ =2ild) “The word (Hild) ‘Saying’ is a situation in the
accusative case”.

(4) (Hpaio dig/ni =leblu) “The word (lebls) ‘Shinning’ is an adjective
in the accusative case”.

(5) (Lgrne ) Cilina =4 sdill) “The word (wusiil) souls is a mudhafu
ilay-hi in the genitive case”.

This indicates that the candidates had sufficient vocabulary and good
command of the Arabic Language. Extract 1.1 is a sample of a
candidate’s good response.
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Extract 1.1: A Sample of Correct Responses to Question 1
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In Extract 1.1, the candidate provided correct answers to the items

related to the given question.



Further analysis of the candidates’ responses in this question shows that
there were 24 (48.98 %) candidates who had an average performance.
Some of them provided two or three correct answers to parts (a) and
(b). Others left items of part (b) unanswered. This showed that the
candidates lacked sufficient vocabulary in the Arabic Language.

On the contrary, there were few candidates (16.33%) with weak
performance in this question. Most of them failed to comprehend the
passage. Eventually, they copied the same words in the question or
copied some sentences from the passage and wrote them as answers.
They did not consider the meaning of the words and demand of the
question. Moreover, others repeated the questions due to weak mastery
of the Arabic Language.

For example, in item (a) (1), the candidates were required to write full
name of ‘Al khansau’, her tribe and its status compared to other tribes.
However, some of the candidates provided insufficient responses. For
example, one of the candidates wrote (&x_e 4Lud ;) “She comes from
Arab tribe”. Another one wrote (zs & f cuid s is 49 40 sa LgilSa ) “She
refused the marriage for her prestigious position” instead of (4 ¢Luis//
o L e alaal A3 Lol Lo (o (g4 5 prbis i 0 31 80 (g pae iy sl
At yaelh “Al-khansau is tamard, the daughter of Amr bin Al-sharid,
from the Salim tribe, and she is from a pre-Islamic tribe with ancient
glories in the pre-Islamic era”.

In item (a) (2), the candidates were required to give the meaning of A4/-
khansau and reasons for the name Al-khansau. Most of the candidates
who provided incorrect response did not understand what was written
in the passage. Instead they copied the sentence without knowing its
meaning. For example, one of the candidates wrote: ( _sua e # LS/ ¥
ipinill g g ll) aé Jll e Ly 5laag) “The crying of Sakhar and Muawiyah in
spite of blame and rebuke” instead of ( <xily ha o/ 5 4ds inT o Luwisf LalS
Lgtlant cuill) Jigs 5 je Lil) 038) “The word Al-khansau means buffalo, and
this poetess was given this title because of her beauty.

In item (a) (3), the candidates were required to explain why Sakhar was
killed? Some of the candidates who provided incorrect responses had
insufficient knowledge of the Arabic Language. Therefore, they gave

6



wrong answers because they failed to comprehend the given passage.
For example, one of the candidates in this category wrote; ( (4 _suoa Jid
Ao lalas) 6 opiludll g “Sakhar killed between two tribes in one
Sakhar”. This provided response is meaningless and grammatically
incorrect. This indicates that those candidates did not comprehend the
passage. The correct response was ( el san/ 4 o Luddll pif sn Jid
s ot L g ks L s <3 ) “Sakhar, Al-khansau’s brother, was
killed in one of the battles of the Salim tribe against the Bani Asad
tribe”.

In item (a) (4), the candidates were required to explain why Al-khansau
loved her brother Sakhar than her brother Muawiyah? Some of the
candidates provided insufficient responses while others wrote wrong
responses. For example, one of the candidates wrote as follows: ( &¥
itinll] g g llf a& pl o L gloay suo e o LS “Because the cried is on
Sakhar and Muawiyah in spite of blame and rebuke”. This response is
incorrect according to the demand of the question. The correct response
was (e sie Sl Jed g 4dla (o (fis Lo lgarli siall 5% “Because Sakhar
shared what was left of his funds with her, and he did that several
times”.

In item (a) (5), the candidates were required to explain what Al-khansau
said when she was told about the death of her four sons in the battle.
The candidates provided wrong answers as they manifested
grammatical errors and insufficient command of the Arabic Language.
For example, one of the candidates wrote: ( &L/ 5_ylis 4 5 casing Lalual/
41,9 “the female Muslim should be patient four sons”. This response
was incorrect. The correct answer was ( gif sd (il oy S/ o Luaddl) Culli
Lan Jiiue (8 mgs inany Of 325 g lid)) “Al-khansau said; 1 thank my
lord, who honoured me by killing them, and I hope that he will unite
me with them in his paradise”.

In part (b), the candidates failed to analyse the underlined words. These
candidates lacked knowledge of Arabic grammatical rules. Hence, they
provided wrong answers as follows:

The word (223w), for example, one of the candidates wrote as follows:
((Fdal/ cwill) “True adjective” instead of (<25 g cilel/ o/ of sl =203 4

7



e g e Cigbra) “The word ‘and’ (/s is a conjunction and (225)
1s a Maatufu maj-ruru in the genitive case.

Similarly, the word (<) ‘Between’, one of the candidates answered as
(oLl <ipby “Adverb of time” instead of ( _s4_s cessaio HLSall i pbs = 1us
wiliaq) “The word (<) ‘Between’ is an adverb of place in accusative
case and at the same time is a mudhafu.”

The word (L) “Saying” was written as (s_=/ 4 5_#Lh Lo £ 44 s _us)
“the subject in predicative form” instead of (saic dal/=ild) “The
word (26l) ‘Saying’ is a situation in accusative case.”

Furthermore, the word (lblw) “Shinning” was written as, one of the
candidates wrote that: (o_ss/ 4 5_sLL Lz £ 48 40 il “It is an adjective
in nominative case instead of (saic i/ ri =leblv) “The word (leblw)
‘Shinning’ is an adjective in accusative case”.

Moreover, the word (w«s4i/) “Souls” was incorrectly written as ( Jseda//
o] 05 pll Lasly £ 44 4o (3Lbs) “Absolute object in the nominative case
instead of (yyrae 4l cilise = u 4dil) “The word (wwsii) souls is a
mudhafu ilay-hi in a genitive case”.

Therefore, the candidates demonstrated insufficient knowledge of the
rules and weak mastery of the Arabic Language. Extract 1.2 is a sample
of incorrect responses.

<4
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Extract 1.2: A Sample of Incorrect Responses to Question 1

Extract 1.2 is a sample of responses from a candidate who incorrectly
analysed words from the given passage.
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2.1.2 Question 2: Rules of the Arabic Grammar

This question had two parts, (a) and (b). The question aimed at testing
the candidates’ ability to identify and analyse the rules used in the
given sentences. This question was set from the topic of Grammar-.

In part (a), the candidates were instructed to identify rules used in the
following underlined words from the given sentences:

(1) (bedsl 5_slhll ) < 4hi) “T looked at the plane’s colour”.

(2) (werrel) o7 2l (K9) “The students entered followed by the teacher”.
(3) (Lealils Wy wikd) “Both her hands were cleaned”.

(4) (gt Uila] 5a0udf < i) “The wise lady’s mother arrived”.

(5) (2 Laa A Jaadl 34j) “The camel passes through a desert”.

In part (b), the candidates were required to clarify the mafuulu mut-lag
with its types in the following sentences:

(1) (Lbsd ol (Kbl 1 pd3) “The child drinks a lot of milk”.

(2) (AN) s pudn BiLal) Spmas 1 42 “Said beat the child a thief’s beat”.
(3) (cwie LA L3Sl </ B) “T read the book twice”.

(4) (isglal) Cuiiuall 5 goa a jlf c15e3) “ called the man for the help”.

(5) ( Y58 2 pial) Jil3) “The soldiers fought hard”.

The analysis of data reveals that out of 95 (95.00%) candidates who
attempted this question, 18 (18.95%) candidates scored 2.5 to 5 marks,
22 (23.16%) candidates scored 5.5 to 8.5 marks while 55 (57.89%)
candidates scored 9 to 15 marks. Therefore, the candidates’
performance in this question was generally good. The summary of
candidates’ performance in this question is presented in Figure 2.
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Figure 2: Candidates’ Performance on Question 2

The analysis reveals that 55 (57.89%) candidates performed well in this
question. These candidates identified the rules used in the underlined
words. This shows that the candidates had adequate knowledge of the
uses of Arabic Language principles. For example, in part (a), one of the
candidates provided his/her answers as follows:

(1) (o) Ciliaa "la" 5 Cilizaa 9 9 5 pusSIl 45 e Sy = lgi oI )Tt is a badali in
genitive case and at the same time it is a mudhafu and letter ‘Haa’
is a mudhafu ilayhi.

(2) (Aaaly £58 0 pill Ao Cighrs = (w ) “It is a maatufu in

nominative case”

(3) () ciline "Laa” 45 Cilizso 98y ¥ £ 46 ja (g gine 2857 =Laalils) “It is
taw-kidu maanawiyu in nominative case and at the same time it is a
mudhafu and letter ‘Haa’ is a mudhafu ilayhi”.

(4) (Lasdlly £ 58 30 oo i = Uilell) “The sapiens is an adjective sababiyu
in nominative case”.

() ilizao "La" 5 Cilizno g g Lasialls £ 5 sa (Bl =lg o) “Her mother is a
subject in nominative case and at the same time it is a mudhafu and
letter ‘Haa’ is a mudhafu ilayhi”.

10



(5) (4l o Lade g (i 45 e i paly ¥ aw) =¢/jaud) “It is a preposition
in genitive case”.

In part (b), the candidates clarified the mafuulu mut-lag with their types
as follows:

(1) (Adll 3S3alf =Ly ud) The word (Ld) ‘Drinking’ is a mafuulu mut-lag
and its type is a muak-kidu lil-fiili.

(2) (Kl g 5i coall =5 jbd) sy The word (k) <1 “thief’s beat’ is
a mafuulu mut-laq and and its type is a mubay-yinu linawi fiili’.

(3) (=l spral/ =cuide | A) “The word ‘Two readings’ (cudeLA) is a mafuulu
mut-laq and and its type is a muabay-yinu lil-adadi”.

(4) (chill g5 Cpall =Cyiiuall 509 “The words ‘call for help’ ( &se2
Cuiiuall) a mafuulu mut-lag and and its type is a mubay-yinu linawi
Sfiili”.

(5) (chill 2S3al/ =Yd) “The word ‘fighting’ (¥ is a mafuulu mut-laq
and and its type is a muak-kidu lil-fiili”.

This shows that the candidates had good command of the Arabic
Language and they were knowledgeable about the Arabic language
grammar. Extract 2.1 is a sample of a good response.

11
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Extract 2.1: A Sample of Correct Responses to Question 2

In Extract 2.1, the candidate identified rules that are used in the
underlined words from the given sentences.

On the contrary, the data show that 22 (23.16%) candidates performed
averagely. Most of those candidates identified two or three rules that
are used in the underlined words. Some of the candidates managed to
clarify correctly some of the mafuulu mut-lag with their types in the
given sentences. Other candidates could only identify the mafuulu mut-
lag but failed to clarify their types.

Conversely, the candidates whose performances were weak failed to
identify rules used in the underlined words. They also failed to clarify
the mafuulu mut-lag with their types in the sentences. Furthermore,
some of them skipped questions. Hence, these candidates performed
weakly. For example, in part (a), one of the candidates wrote as
follows: In item (1), Al-mudhaafu in subjective case instead of ( = Leis/
) il "La" g Ciliina gb g5 Sl g e J1o )Tt is @ badali in genitive
case and at the same time it is a mudhafu and letter ‘Haa’ is a mudhafu

12



ilayhi. In item (2), preposition in genitive case instead of ( =w_sal/
Loalls £ 44 ja 30Mil] e Cighra) “It is a maatufu in nominative case”. In
item (3), adjective in subjective case instead of ( (ss-ine L1847 =LaalilS
] Cilizao "Lad " g Ciliiao gt g il £ 44 59) “Tt is taw-kidu maanawiyu in
nominative case and at the same time it is a mudhafu and letter ‘Haa’ is
a mudhafu ilayhi”’. Moreover, in item (4), objective in subjective case
instead of (Lasalls £ 44 so (e Ciai = 4Lilall) “The sapiens is an adjective
sababiyu in nominative case.

In part (b), the candidates provided incorrect answers as they
manifested weak command of the Arabic Language. For example, one
of the candidates in this category wrote: ( 4 Jibl/ -2 Joeiall 30 oo llf -]
Sseiadl 38 24indl -5 (Jsmial) ga ISl -3 (Js=ial). This candidate clarified the
mafuulu mut-laq and their types as follows “(1) milk and its type is an
object, (2) the baby and its type is an objective. Moreover, (3) the book
and its type is an object and (5), soldiers and its type is an object. The
correct answers were: (1) (J2ilf 1S3al/ =L 1) the word (L_wf) ‘Drinking’
is a mafuulu mut-lag and its type is a muak-kidu lil-fiili; (2) ( x>
hill £ 4i cpall =3 Juall) The word (FAwl/ <19 “thief’s beat’ is a mafuulu
mut-laq and and its type is a mubay-yinu linawi fiili’, (3) ( csel) =cude [ A
21elh “the word ‘Two readings’ (cwie/H) is a mafuulu mut-lag and and
its type is a muabay-yinu lil-adadi” and (5) (J=dill 1S3/ =YL5) “the word
‘fighting’ ( ¥4) is a mafuulu mut-lag and and its type is a muak-kidu lil-
fiili”. Extract 2.2 is a sample of an incorrect response.
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Extract 2.2: A Sample of Incorrect Responses to Question 2

In Extract 2.2, the candidate identified incorrectly the mafuulu mut-lag
in the given sentences.
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2.1.3 Question 3: Arabic Grammar

This question had two parts (a) and (b). The question aimed at testing
the candidates’ ability to apply the Arabic rules by using the
instructions provided. The question was set from the topic of Language
Use. This question carried 15 marks.

In part (a), the candidates were required to change the active verbs into
passive voices and put signs needed on the letters from the following
sentences:

(1) (&) 2aldll Jsdy) “The witness speaks the right.”

(2) (ki Y aleall 7aas &) “The teacher did not praise except you”.
(3) (da 15 wlill o_jiny) “People respect rich person”.

(4) (Hidel) aslatl ealis) “The gentle man forgave the guilty”.

(5) (Fie corlll Hlalil) <i4i%) “T have informed the youth that the game is
beneficial”.

In part (b), the candidates were required to specify the use of the
conjunction ‘and’ in the following sentences:

(1) (ess/s Y& acsdsy) “Khalid quarreled with his brother”.

(2) (p Bl 5 Lisda) “We walked in the dark”.

(3) (il 19 2 5 Jana _puian) “Mohamed attended in the sunset”.
(4) (dSgy il Cilish) “The merchant and his agent disagreed”.
(5) (cmaidll g 4lbg e _uan) “Ali has reached in the sunrise”.

This question was attempted by 100 (100.00%) candidates, out of
whom 73.00 per cent scored from 9 to 15 marks. Additionally, 13.00
per cent scored from 5.5 to 8.5 marks. Moreover, 14.00 per cent scored
from 0 to 5 marks. The overall candidates’ performance in this question
1s summarised in Figure 3.
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Figure 3: Candidates’ Performance on Question 3

The candidates who performed well in this question changed the active
verbs into passive voices and put signs needed on the letters as required.
For example, in part (a), some of the candidates wrote as follows:

(1)(&ad J&) “The truth will be told.”

(2)(&il ¥ #34d a)) “He has not been praised except you”.

3) (Lo s A jiad) “The rich person is respected .

(4) (ided) e si) “The guilty person was forgiven”.

(5) (Txis cllf Slalill 3i) “The youth have been informed that the game

1s beneficial”.

In part (b), the candidates correctly provided responses in accordance
with the instructions as follows:

(1) (wibell La g/l “Al-wawu (s/s) means “conjunction”
(2) (Limall Lis 5/ sl “Al-wawu (/) means “companion”.
(3) (Limall Lis /sl “Al-wawu (s/+)) means “companion”.
(4) (ibell Ga g/ “Al-wawu (s/s)) means “conjunction”.
(5) (Linall La o/ sl ' Al-wawu (s/s/) means “companion”.

15



This good performance indicates that the candidates had appropriate
knowledge of the Arabic grammar and sufficient Arabic vocabulary.
Extract 3.1 is a sample of a candidate’s correct response.
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Extract 3.1: A Sample of Correct Responses to Question 3

Extract 3.1 shows responses from a candidate who changed the active
verbs into passive voices and put signs needed on the letters as required
in part (a). He/she specified the use of the conjunction ‘and’ in part (b).
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The analysis of candidates’ responses shows that 13 (13.00%)
candidates had an average performance. These candidates managed to
change two or three active verbs into passive voices as required. Others
were unable to complete all changes needed in changing the active
verbs into passive voices. For example, one of the candidates wrote ( s
Juio calll Hlalil) “He has been informed that the sport is beneficial”.
This candidate changed the active verbs into passive voice but he/she
did not consider to put signs needed on the letters as instructed. Hence,
he/she attained average marks. The correct answer was supposed to be
(Judia ol Glalel 3E) “He has been informed that the sport is
beneficial”. In part (b), most of those candidates also specified the use
of the conjunction ‘and’ two or three out of the five items given.

On the contrary, there were 14 (14.00%) candidates with weak
performance. They failed to change the active verbs into passive voices.
Some of them left the questions unanswered. Other candidates failed to
consider the changes which occur when making passive voices. For
example, one of the candidates wrote: In item ( £jiad -3 Gal/ JaLil) A7 -]
Gidal) Zulal) zagis -4 91—1/3 Jwlilh. “(1) The witness will be spoken the
right, (3) People are respected the rich person and (4) The gentle man
was forgiven the guilty”. This candidate changed verbs but failed to
remove the subject of active voice and he/she failed to change object
into subject of the passive voice. In another example, one of the
candidates wrote: In item (¢widel/ Zalls -4 .glnuj A -3 . Gall i sdi-1) (1)
The truth is speaking, (3) The rich person respects and (4) He forgave
the guilty”. The candidate managed to remove subjects of the active
voice and changed objects into subjects of the passive but could not
consider to change verbs.

It is to be noted that when changing the active voice into passive
voices, one needs to do the following: first, check if there is a subject
and an object in the sentences. If there are subject and objects, you
should remove the subject and change one of the objects to be a subject
of the passive voice. Second, you will change the sign of the verb in
the first letter by putting dhamma instead of fat-ha and before the last
letter by putting fat-ha.

17



Moreover, a few of them wrote their responses which were unrelated
to the demands of the question. For example, one of the candidates
changed the active verbs into nominal sentences instead of passive
voices. For example, one of the candidates wrote: (3> Jsis 20Li) “The
witness speaks the right.” and (ke 5 a_iay wlil) “People respect rich
person”. The correct responses were supposed as follows: In item (1)
($aJ &) “The truth will be told” and (3) (ke s £jiad) “The rich person
is respected”. Furthermore, in item (4) (widel/ zs &) “The guilty person
was forgiven”.

Additionally, the candidates provided incorrect responses in part (b)
since they lacked adequate knowledge of the Arabic Grammar. For
example, one of the candidates wrote (1) (Lizall L /ol “Al-wawu
(s/5/) means companion”, (2) (<ibell Ls /sl “Al-wawu (s/s/) means a
conjunction, (3) («ibell LGa 4/s) “Al-wawu (/s means a conjunction”,
(4) (Linall La o/ ol ‘Al-wawu (/s means companion” and (5) ( La _s/s//
cibelh “Al-wawu (s/s/) means a conjunction”. The correct responses
were (1) («ibell La /sl “Al-wawu (/5! means a conjunction, (2) ( /s
Lieall Lia) “Al-wawu (/) means companion”, (3) (Lieal/ Lis 4/4/h “Al-
wawu (s/s)) means companion”, (4) (<ibell Ls o/ ol “Al-wawu (/)
means a conjunction” and (5) (Lizall La /sl F‘Al-wawu (s/s)) means
companion”. Extract 3.2 is a sample of such an incorrect response.
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Extract 3.2: A Sample of Incorrect Responses to Question 3

In Extract 3.2, the candidate added the letter ‘atfau’ to the active verbs
instead of changing the verbs into passive voices.

2.1.4 Question 4: The Rules of Morphology

This question had two parts, (a) and (b). In part (a), the candidates were
instructed to respond to the given terms. In part (b), the candidates were
required to form the passive participle from the given verbs and use
them to compose meaningful sentences. The question tested the
candidates’ ability to comprehend the Arabic morphology. The
question was set from the topic of Morphology. The following are the
five (5) items in part (a).
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(1) (£saill pe ipall jies lila) “What is the difference between
morphology and syntax?”

(2) (Fipall ale ;5 S g S5 A5l S5 ¥ 5ol sing fila) “Why is Abu A-
Aswad Al-Du’ali considered as the first author who wrote on
morphology?

(3) (Flein/ ey lgia cdia J3/ LalSl 5 jsi <is§) “How is a word measured if
you omit some of its letters?

(4) (f Bl )y Jsaiall sl 0 G AN L) “What is the difference between
the passive participle and the active participle?”

(5) (Sinall hill (o Jolil) ) ¢ Licy S LS ALie Sy elang) “With sufficient
examples, explain how the active participle will be formulated
from the defective verb?”

In part (b), the candidates were required to form the passive participle
from the given verbs and use them to compose meaningful. The
question was as follows:

(i fn) — gkl — iy — M 20 Ao i deiinaf ¢ Ly Laa e (K (o Jpmiall pus] o
&bii/ 5y “Formulate the passive participle from the following verbs:
(To be eaten, to be sold, to be obeyed, to be respected, to be enabled)

A total of 89 (89.00%) candidates attempted this question and their
scores were as follows: 24 (26.97%) candidates scored from 0 to 5
marks, 40 (39.32%) candidates scored from 5.5 to 8.5 marks and 30
(33.71%) candidates scored from 9 to 15 marks. The scores indicate
that the candidates’ performance was good since 64 (73.03%)
candidates scored from 5.5 to 15 marks. Figure 2 summarises the
candidates’ performance in Question 4.
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Figure 4: Candidates’ Performance on Question 4

The analysis shows that candidates who performed well in this question
provided correct responses in part (a). Furthermore, they formed the
passive participle from the given verbs and used them in composing
meaningful sentences.

For example, in part (a), one of the candidates provided his/her correct
responses as follows:

(1) ( by 4LalS oS ytng oS ily 5 goaill Lof 5y ZalS o iy (51e ol
Laal/ 4 Lgalhiih) “Morphology is the study of words, how they are
formed, while grammar is the whole system and structure of a
language.”

(2) (Aol el 35 (o Jyf 458 i ol e gl Ly 50 501 3l i)
“Abu Aswad al-Du’al is considered as the first author of the
morphology, because he was the first person to write on Arabic
Education.”

(3) (OLiall (b Al s Ciia Lgd o s LalSl o cila [3) “Tf some of its
letters are omitted from the word, the same will be deleted in the
scale”.
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(4) ( dadll ele ady po (Ao UYLl Jogaall fisall oill 1o € Lar pus] 38 Jsriall asal
0 ol 5f eill 4ia 235 ya (Ao UYL ¢ Ly i) 98 e lil] as] Laf) “It is @ noun
that is formulated from a verb based on the passive voice, while the
subject noun is formulated from a verb based on the active voice”.

(5) ( 4bjad Blill ars] o6 Culi Lil] hill e HIS 1Y e final) Jeil) (po o lil) pua) ¢ Lcy
rcHe o8 _ja oM Yy Ui e sl Lsls adll Gy LS 5 . 2ile-ale 5 Sl - M6 fia
it - pitl5_gsle - y5e) “The subject noun will be formulated from a
defective verb if the second letter of that defective verb has a letter
“Aliphu”. Then, “Aliphu” should be changed into a “hamza”. For
example, Kala — Kailu and Ada-Aidu. 1f the second letter of the
defective verb has letters Wawu or Yau. Then, they should not be
changed into hamza. For example, Awara-Aawiru and Waaysa-
Aayisu.

In part (b), the candidates formed the passive participle from the given
verbs and use them in composing meaningful sentences.

(gl ol — alil] gosse o ol (5 pan :ptin oty — S8l Hasad) :JySLa - ST
oV Jia o) -l ki) — o 36 Sy uif 2p ping g pia) 4% F 6 gLl
glhiwa) “to be eaten= the fish is eaten; to be sold= the man stole the
merchant’s sale; to be obeyed= He is obeyed in his village; to be
respected=you are respectable man; to be enabled=This thing is

possible”.

The good performance indicates that the candidates had sufficient
knowledge of the Arabic morphology tested. Extract 4.1 is a sample of
a candidates’ correct responses.
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Extract 4.1: A Sample of Correct Responses to Question 4

Extract 4.1 is a sample of part of responses from a candidate who
formed the passive participle from the given verbs and use them in
meaningful sentences as required.
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Further analysis reveals that 40 (39.33%) candidates had average
performance in this question. They provided two or three correct
answers in both parts (a) and (b). In part (a), Most of them provided
correct responses to the items (1) and (4) which asked the difference
between morphology and syntax as well as the difference between the
participle and the subject noun. Furthermore, in part (b), they formed
the participle for the two given verbs (4 /- dfé “To be eaten and to
be respected” and use them in meaningful sentences. Others formed
only the participle for the given verbs and they failed to use them in
meaningful sentences.

On the contrary, 24 (26.97%) candidates with weak performance
provided incorrect responses to the items given. For example, one of
the candidates wrote ( Jelilf aw/ ¢ Luay -5 44 puaiall Lai¥ly Lo jpall o Lo ¥ -2
ot -l — g s e "L 4d a5 381 Jinall fdl] () “2- Noun mu-uraba and
verb mutasarifatu and 5- The active participle is formed from the
defective verb with letter al-yau for example, he sold — the seller- To
sell” instead of ( ¥ cuuld Lilf Juill (ype HLS 1) schinall el (po Jolil] ps] ¢ Licy
Yy Lisis o by yf [l daill e LS Gy 2ile-ale g Jild -G Sio 65 jat Jelil] pss
pit] ity _ssle - ype :hda o5 js i) “The subject noun will be
formulated from a defective verb if the second letter of that defective
verb has a letter “Aliphu”. Consequently, “Aliphu” should be changed
into “hamza”. For example, Kala — Kailu and Ada-Aidu. 1f the second
letter of the defective verb has letters Wawu or Yau. Therefore, they
should be remained as they are without being changed into a hamza.
For example, Awara-Aawiru and Waaysa-Aayisu.

Additionally, there were candidates who provided unclear explanations
while other candidates wrote responses which were unrelated to the
demands of the question. For example, one of the candidates wrote
goals of studying morphology instead of the difference between
morphology and grammar in item (1) as follows: ( ;i e i pall jliay
LS o Lo gel) L&l 5ild e o g o phal) g (i LS e Glislll g 58
s¢/ 44l 5) “Syntax differs from grammar by preserving the language from
mistakes in creating vocabulary and paying attention to the rules of the
Arabic Language in writing and reading”. The correct answer was
(et ILalS 43 gf Lorizag caS il 5 Leisd pailf Lol 5aafy LalS o Lis (5-leds < sl
Lloat/ 4 Lgalhiif) “Morphology is the study of words, how they are
24



formed, while grammar is the whole system and structure of a
language.” Likewise, there were candidates who left the question
unanswered as the lacked knowledge of the Arabic morphology.

Conversely, in part (b), there were candidates who failed to form the
passive participle from the given verbs. Moreover, they could not use
them in meaningful sentences due to limited knowledge of the
morphology. For example, one of the candidates wrote: ( J& - Kla - &/
alell o gl Lo cpabiie -palf YY) aiha Alol) (K :aihe - ol « Kla alebl
“to be eaten= eating food is eating, to be obeyed= each boy are
obedient boys, to be enabled=this is possible in education”. This
candidate formed the active participle instead of passive participle due
to insufficient knowledge”. Another candidate provided the following
answers: ( scduS Sl & guro A/ ) -6 paro-ils edindi JoSla iy IS 18 grsa - g
S & sha i O piea ey .'5)34-@-36 which were incorrect because
he/she used a wrong scale in creating the passive participle for the
verbs ( &b/ — o — 955 “to be eaten, to be sold, to be obeyed” . This
candidate failed to consider that one needs to understand type of verbs
and their letters before choosing appropriate scales in forming passive
participles. The correct answer was ( e =& — JsSle awal) - JsSLa - S
il ia jina g jial 4D A 4 plba b jplhe k] — alil gue bl (G
Elhiua o 3 o g e -gakibis] — o 5i24) “to be eaten= the fish is eaten,
to be sold= the man stole the merchant’s sale, to be obeyed= He is
obeyed in his village, to be respected=you are respectable man, to be
enabled=This thing is possible”.

This shows that those candidates had insufficient knowledge of the

passive participle in Arabic morphology and a weak mastery of Arabic
Language. Extract 4.2 is a sample of an incorrect response.
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Extract 4.2: A Sample of Incorrect Responses to Question 4

In Extract 4.2, the candidate formed active participle instead of the
passive participle contrary to the requirement of the question.

2.1.5 Question 5: The Rules of Morphology

This question had two parts (a) and (b). In part (a), the candidates were
required to clarify the reason that led to formulate the infinitives in the
given weights: In part (b), they were instructed to differentiate normal
verbs and defective verbs from the verbs given. The question tested the
candidates’ ability to understand the Arabic morphology. The question
was set from the topic of Morphology. The question was as follows:

(a)(oLisY ods Mo nlicall i deliia N 5] o3l cpiadl () “Clarify the
reason that led to formulate these infinitives in the following
weights”:

(- Lapr— Lilatw) — paii— 5 jars — Jaled — LS5 - §lELEH — oY pa — diliva
olua)) “to contest, to visit, to split, to recommend, to deal, to be
brown, to rate, to help, to roll, to be kind”.

(b)(Sad¥ 230 (o Sirall (s priaaall Soil) iie) “Differentiate normal verbs
and defective verbs from the following verbs:”
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(o - plif = s — iy — ity — tadi— (g — D — o] — ()
“He spent, he withdrew, he participated, he played, he interpreted,
he bounced, he was satisfied, he shared, he put him to bed, he
ordered him”.

The question was attempted by 65 (65.00%) candidates out of whom
where 24 (36.92%) scored from 0 to 5 marks; 27 (41.54%) scored from
5.5 to 8.5 marks and 14 (21.54%) scored from 9 to 14 marks. The
overall candidates’ performance in the question was average since
63.08 per cent scored from 5.5 to 14. Figure 5 illustrates the
distribution of candidates’ scores on the question.
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Figure 5: Candidates’ Performance on Question 5

The data show that 21.54 per cent of the candidates performed well in
the question. Most of them correctly attempted the question by giving
the reasons that led to formulate the infinitives in the given weights.
They also differentiated normal verbs and defective verbs from the
verbs given. For example, in this category, part (a), the candidates
wrote:
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(<ud) Reason (A———adl)) | (o)

Infinitive S/N
(Jelip iy e pols y4tei 53) Because it is a | (dl—ws)  to | 1
quadruple verb in the weight of ‘faala’. contest

(LS adl Ao Ly Db 4dei 5% Because it is a
triple verb that indicates the movement

(0¥sa) to visit

(Leas 5_jages o _gsa iy puslas 4dad 58) Because
it is a verb which has five letters, beginning
with a hamzatu al-wasli

(Slidih to split

(&6 iy e (ool y4dei 5F) Because it is a
quadruple verb in the weight of ‘faala’.

(L559)
to recommend

(32 £ i 55 _gase pulas 4ded 58 Because it is a
verb which has five letters, beginning with a
‘tau zaaidatu’.

(cbaled) to deal

(sl Ao Dy (6 4Led 59 Because it is a
triple verb that indicates the colour.

(3a) to be
brown

(&6 iy e (ool y4tei oY) Because it is a
quadruple verb in the weight of ‘faala’.

(L) to rate

(Leas 5 jags £ stia (psfis 4led 58) Because it is
verb which has six letters, beginning with a
hamzatu al-wasli.

(4ileiv) to help

(Med iy A ch,:J‘lea% Because it is a
quadruple verb in the weight of ‘faalala’.

(4&am9) to roll

(Sadf iy (Ao o lsy4dai 58) Because it is a
quadruple verb in the weight of ‘af-ala’.

(Obwa)) to be
kind

10

In part (b), the candidates who scored high marks provided correct

responses as follows:

(LLieal/ Juy/) Defective verbs

(dassuall L2i¥) Normal verbs

(<=~=) He spent

(¢<=wuif) He withdrew

(<19 He implemented the promise | () He participated
(<45 He bounced () He interpreted
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(¢s~=) He was satisfied

(<l He ordered

(»Lh He put him to bed

(paaxsan) He shared,

This implies that the candidates had adequate knowledge of the
Morphology in Arabic Language. Extract 5.1 shows a sample of the
correct responses to question 5.
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Extract 5.1: A Sample of Correct Responses to Question 5

In Extract 5.1, the candidate gave reasons for each infinitive according
to its weight to the all items as required.

Further analysis indicates that 27 (41.54%) candidates had an average
performance. These candidates managed to differentiate between
normal verbs and defective verbs from the verbs given. However, they
failed to give the reasons that led to formulate the infinitives in the
given weights. This indicates that the candidates had partial knowledge

on the morphology.
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In contrast, there were 24 (36.92%) candidates who performed weakly
in this question. These candidates failed to give the reasons that led to
formulate the infinitives in the given weights. Instead, they made the
scales of the given infinitives due to insufficient knowledge of the
Arabic Language morphology. For example, one of the candidates
wrote as follows:

(<t Reason (suad)) Infinitive | (~—4)
S/N
Uelio (4islua) to contest | 1
Ol 4 (0¥s) to visit 2
Nadif (Slédih to split 3
L8 (&5 4
to recommend
Lkl (a2 to deal 5
AUed (8_4w) to be brown | 6
feads (a8 to rate 7
Uleiif (il to help 8
AULs (4a_m) to roll 9
Nad/ (olwah tobe kind | 10
The correct answers were as follows:
(<ud) Reason () | (o)
Infinitive S/N
(Jeliy js e g‘L,'J"—Md% Because its verb | (d&l—uwa) tol1
is quadruple verb in the weight of ‘faala’. contest

(LS adl e iy Db 4Led 55 Because its verb | (oY) to visit | 2
is a triple verb that indicates the movement
(Leas 5_jags o _gsa iy pualas 4dei 5$) Because | (Sl to split | 3
its verb has five letters, beginning with a

hamzatu al-wasli

(& iy Ao ol e 59 Because its verb is | (455) 4
quadruple verb in the weight of ‘faala’. to recommend

(3L e Lis ¢ _psa uslad 4dad 5 Because its | (oled) to deal | 5
verb has five letters, beginning with a ‘fau
zaaidatu’.
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(sl (e Sy 5 442d 5% Because its verb is | (5.aw) to be | 6
a triple verb that indicates the colour. brown

(&8 Ois (Ao (pobs4ded 53 Because its verb is | (_gd) to rate 7
quadruple verb in the weight of ‘faala’.

(Leas 5_jages ¢ gosa (poualus 4ded (5% Because its | (Lilaiul) to help | 8

verb has six letters, beginning with a
hamzatu al-wasli.

(Med 0 jg e ch,ule'a% Because its verb
is quadruple verb in the weight of ‘faalala’.

(Lamdtoroll |9

(Sl g (e (ool s 4ded 53 Because its verb
is quadruple verb in the weight of ‘af-ala’.

(olws) to be | 10
kind

Extract 5.2 is a sample of an incorrect response.
<
N

jp——

Extract 5.2: A Sample of Incorrect Responses to Question 5

In Extract 5.2, the candidate provided scales of the given verbs instead
of differentiating normal and defective verbs among the given verbs.
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2.2 Section B: Essay Questions

This section had three questions: 6, 7 and 8. Questions 6 was about letter
writing while question 7 and 8 dealt with essay writing. Each question carried
twenty (20) marks.

2.2.1 Question 6: Letter Writing

In this question, the candidates were required to write an informal letter
to his father, asking him to collect a certificate on his behalf from the
head master of Ubungo Secondary School. The question aimed at
assessing the candidates’ ability to express themselves the Arabic
Language. The question was set from the topic of Composition.

This question was attempted by 100 candidates (100.00%). Among
them, 29 (29.00%) scored from 12 to 17 marks; 54 (54.00%) scored
from 7 to 11 and 17 (17.00%) scored from 4 to 6 marks. The general
performance in this question was good because 83.00 per cent of the
candidates scored from 7 to 17 marks. The candidates’ performance in
this question is summarised in Figure 6.

100 —
90 —+
80 —+
70 +
60 + 54.00
50 +
40 —+

30 +
20 1 17.00

ol
0 | |

40-06.0 7.0-11.0 12.0-17.0

29.00

Percentage of Candidates

Scores

Figure 6: Candidates’ Performance on Question 6
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The analysis shows that 29 (29.00%) candidates performed well in this
question. These candidates wrote good letters with the required content
of asking the father to collect a certificate on one’s behalf from the head
master of Ubungo Secondary School. These candidates also adhered to
the principles of writing informal letters including appropriate position
of senders’ address, salutation, main body and a conclusion. For
example, one of the candidates wrote as follows:

(c)ﬂ/g,!f‘_,.l/
ﬁsjjdfhﬂf%fwf
o Ul Lo a a6 wlify aSl) Jiad o Liiate Ul il 238 ) ilS] f (dessy
o 5 gl dus_pa pa dalel) 4y 58 Jolgeid S8L LilS o5 of eilla] gl Bolews bl Si]
oo Lagall 038 oS (34 5 bl il A pral) o)

“To my dear father,
Peace, mercy and blessings of God be upon you

I am pleased to write this letter to you, hoping that it reaches you in a
good health. As for me, I am fine, thank God very much. Dear father I
ask you to collect for me my secondary school certificate from the
headmaster of Ubongo Secondary School. I hope you will succeed in

2

completing this task......... .
This suggests that the candidates had sufficient vocabulary and good

command in the Arabic Language. Extract 6.1 is a sample of a candidate
who correctly responded the question.
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Extract 6.1: A Sample of Correct Responses to Question 6

In Extract 6.1, the candidate wrote an informal letter by adhering to the
required principles.
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On the contrary, the candidates who had an average performance
managed to adhere to the principles of writing informal letters.
Moreover, they correctly structured their letters by appropriately
positioning the address, salutation, main body and a conclusion.
However, their explanations were insufficient and incoherent.
Additionally, their responses had some grammatical errors and spelling
mistakes. Hence, they attained the average marks.

Conversely, there were 17 (17.00%) candidates who performed weakly
in this question. These candidates provided insufficient and unclear
explanations. Furthermore, some of them repeated some words in their
answers. Additionally, their responses had spelling mistakes. A few of
them copied some texts from question paper and used them as answers.
This indicates that the candidates had inadequate vocabulary and a weak
mastery of the Arabic Language. Extract 6.2 is a sample of an incorrect
response.
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Extract 6.2: A Sample of Incorrect Responses to Question 6

In Extract 6.2 shows a part of responses from a candidate provided
unclear explanations in the main body of the letter.
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2.2.2 Question 7: Essay Writing

In this question, the candidates were required to write an essay of not
less than 200 words about benefits of social media. The question aimed
at testing the candidates’ ability to express themselves in the Arabic
Language. The question was set from the topic of Composition.

The question was attempted by 32 (32.00%) candidates, out of whom 7
(21.87%) scored from 12 to 16.5 marks, 11 (34.38%) scored from 7 to
11 marks and 14 (43.75%) scored from 0.5 to 6.5 marks. The general
performance in this question was average since 18 (56.25%) candidates
scored from 7 to 16.5. The candidates’ performance in this question is
summarised in Figure 7.

100 —+
90 +
80 —+
70 +
60 +
50 + 43.75

40 + 34.38

30 + 21.87

20 +

10 + .

0

05-6.5 7.0-11.0 12.0 -16.5
Scores

Percentage of Candidates

Figure 7: Candidates’ Performance on Question 7

The candidates had a good performance in this question. These
candidates explained about benefits of social media in not less than 200
words. They also structured their essays logically into such components
as introduction, main body and conclusion in a good logical flow. As a
result, they scored high marks. For example, one of the candidates
provided responses as follows:

( Y iy f il o Lt Y o 50 i 5 S illie L] i) Blus o a
Ly i Ll 0Lk LS. w2l 5 S -l Lalisall Ly [ il cobunidy My ] sl
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o Lo_pé 5 Ll ity cdsal) o Lilisall o glel] 5 gos pty LI pLof paalla OB
ool b5 L YV 037 3l Y gn 5 43S wilia L il Blas gy g ] ol
e siial] Lageall uS pinny 2T Y gl (i LS, ITY) o U gy Ly o
Al aalaal] B g [y lgTon 5 lotin)

One of the most beneficial social media is television, as it publishes
news, events such as football. We also watch some times students
sitting in front of the TV studying various sciences such as Arithmetic,
Geography and other studies. Other social media with many benefits are
telephones that are used to communicate in the easiest and fastest ways.
With mobile phones, one will find some important and diverse books if
you search them and read them, such as linguistic dictionaries. This
suggests that the candidate had good command of the Arabic Language.
Extract 7.1 is a sample of a candidate who correctly responded question
7.
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Extract 7.1: A Sample of Correct Responses to Question 7

In Extract 7.1, the candidate explained about benefits of social media as

required.
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Further analysis of the candidates’ responses shows that there were
some candidates who had an average performance in this question.
Those candidates provided insufficient explanation about benefits of
social media. Moreover, their responses had some grammatical errors
and spelling mistakes. Hence, they attained the average marks

On the contrary, the candidates with weak performance in this question
provided insufficient and unclear explanations due to their limited
ability in the Arabic Language. Furthermore, some of the candidates
provided their points which were unrelated to the demands of the
question due to poor mastery of Arabic Language. For example, one of
the candidates explained that ( o 4/ S e laia Y Jial sill Jilia 5 25/ 58 1a
aeinall 9 lil) “Among the benefits of the social media is to make
people love each other in the society” instead of ( adlie ket N Sl oI/ (1
Lo/ 5ily chpuly 5 ol pally JsS yikly 4l Cya _Hali e laia ¥ ool s 16 5 oS
LN alef ppalla oMLY i858 ymy L) 8L LS piill 58 : e dilisall
ol o lo_yé g Lilga]y duwad (a dilisal) o glell o ) “explaining
about great benefits in social media is television, as it publishes news,
events such as football. We also see some times students sitting in front
of the TV studying various sciences such as Arithmetic, Geography and
other studies”. Additionally, their explanations had a lot of grammatical
and spelling mistakes. Extract 7.2 is a sample of an incorrect response.
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Extract 7. 2: A Sample of Incorrect Responses to Question 7

In Extract 7.2, the candidate provided unclear explanations on benefits

of social media due to poor mastery of Arabic Language.
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2.2.3 Question 8: Essay Writing

In this question, the candidates were required to write an essay on the
role of the teacher in the process of raising children in not less than 200
words. The question aimed at testing the candidates’ ability to express
themselves in Arabic Language. The question was set from the topic of
Composition.

The question was attempted by 68 (68.00%) candidates who sat for the
Examination. The performance shows that, 13 (19.12%) candidates
scored from 12 to 17 marks, 30 (44.12%) candidates scored from 7 to
11.5 marks and 25 (36.76%) candidates scored from 3.5 to 6 marks. The
general performance was average because 43 (63.24%) candidates
scored above average marks as illustrated in Figure 8.

100 +
90 —+
80 +
70 +
60 +

50 4+ 44.12
10 | 36.76

30 19.12
20 4
10 4
0 - | |
35-6.0 70-115 12-17.0
sScores

Percentage of Candidates

Figure 8: Candidates’ Performance on Question 8

The candidates who scored high marks in this question wrote on the role
of the teacher in the process of raising children. They also wrote their
essays in not less than 200 words. Furthermore, they structured their
essays into introduction, main body and conclusion in a good logical
flow. Hence, they scored high marks. For example, one of the
candidates explained the role of the teacher in the process of raising
children as follows:

Casll s (e pli Yg chalads Y (il ¥ 4Dl Liacid il g S wleall o
iy sy dglle i o Jpuanllo2¢ 5 uch Sity g 3y mlaal] cing iyl
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ausSel aalad o8 Gy 1] (6 (GBI pJ0RTs] (6 g g aleall O puy 1) Lalae (4

The teacher does his best to build the character of his students. He does
not hesitate, ignore for this task. He does not sleep for this useful good
deed. He loves children and tries hard for the child to reach the highest
level and excel in the teaching process. The teacher finds and strives to
gather useful information that promotes students and elevates him in
using appropriate methods in his teaching so that students get good
results. Extract 8.1 is a sample of one of the candidates in this category.
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Extract 8.1: A Sample of Correct Responses to Question 8

Extract 8.1 shows a part of responses from a candidate who managed to
explain about the role of the teacher in the process of raising children as
required.
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Further analysis shows that there were 30 (44.12%) candidates who
performed averagely. These candidates managed to mention two or
three points and their explanations were insufficient due to limited
ability to express themselves in Arabic Language. On top of that, their
responses had a lot of grammatical errors and spelling mistakes. Hence,
they performed averagely and were moderately awarded.

On the contrary, there were 25 (36.76%) candidates who performed
weakly in this question. Most of those candidates were unable to
express themselves by using Arabic Language. Therefore, they provided
unclear explanations or explanations which were unrelated to the
demands of the question. For example, one of the candidates explained
about the responsibility of the teacher like cleanliness and hospitality
instead of role of the teacher in the process of raising children. Another
candidate wrote ( ¢ <03 VoY OIS JY) 1Y aleadl po o i (any alei OY, Y
alrall (Ao (o p7 dasi s 4w nelh. This sentence was unclear because of
grammatical errors. That sentence was supposed to be ( (aes Y5 plas
T sl sty s L pall o9y Ledie aleall o £Lui¥) “The children
learn different things from the teacher when they have gone to school
and followed the lessons well”. This implies that the candidates lacked
sufficient vocabulary and good command of Arabic Language. Extract
8.2 is a sample of an incorrect response.
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Extract 8.2: A Sample of Incorrect Responses to Question 8

In Extract 8.2, the candidate explained the role of the library instead of
the role of the teacher in the process of raising children.
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3.0 ANALYSIS OF THE CANDIDATES’ RESPONSES IN EACH QUESTION
IN ARABIC LANGUAGE PAPER 2

3.1 Section A: Short Answer Questions

This section had five (5) questions and the candidates were required to
answer four (4) questions. Each question carried fifteen (15) marks. The
whole section weighed 60 marks.

3.1.1 Question 1: The Eloquence and Rhetoric

This question had two parts, (a) and (b). The question aimed at
assessing the candidates’ ability to understand the concepts of (4 /)
“Al-balagha” and (4dalwill “Al-fasaha” in rhetoric. The question was set
from the topic of Rhetoric.

In part (a), the candidates were required to answer the following five

items:

(1) (Ll Arall s (5 ¥ £ 5iTy 2307 o aaiey Leil) o ple (1 ple s/
FLUS 5 lain Yy cdpdil) o23iul) “What is the education among
rhetoric education which is based on different types of styles of
conveying messages such as Tashbihi, Istiaara and Al-kinaya?”

(2) (FaLlailfy 46 0lf 1 (5 4N s8 Lo) “What is the difference between al-
balagha and al-fasaha?”

(3) (Finl LalS My Yy fisls alSia g fsls 2 IS : Méy JiLal) “Why can’t the word be
said to be balighi”.

(4) (8 daliad (3iaii Laj) “What is the eloquence of a sentence?”

(5) (Flauai pe Lol (485 d") “When the Arabic word will not be

eloquent?”

In part (b), candidates were required to identify the mistakes that made
the following sentences to be eloquent:
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(1) (4ialf 4 adidf ol 4dd) “The king has spread his tongue in the
city”.

Q) (o e i i B punl g * 48 HlSar i m_pd) “Harub’s grave is located in
a place where there is no other grave near the grave”.

(3) (st AMrws (3o () pas iili *  paau) Jrindl doga o dalas) ‘O’ wild
dove of Jandali stone, sing again, sing loudly here you are in front
of the beautiful woman Sauda likes to hear”.

(4) (e <if sl 5 ol 5 * 2T L ull U 58 ) How will the father of all
creatures be Adam and Eva? when you (Muhammed) and your
father are the created people.

(5)(ga0 <assan (3o data K A * 4 4 75l plaia) 4 LS As if in every
wound he suffered there was a soul from the pain he suffered and
there is a soul in every part of his body”.

The question was attempted by 97 (97.00%) candidates, out of whom,
55 (56.70%) scored from 9 to 15 marks, 25 (25.77%) scored from 5.5
to 8.5 marks and 17 (17.53%) scored from O to 5 marks. The general
performance in this question was good since 80 (82.47%) candidates
scored from 5.5 to 17 marks. The general performance of candidates is
summarised in Figure 9.

100
90 +
80 +
70 +
60 +
50 +
140 +

30 4+ 25.77
K0 L 17.53

0 } }
0-5.0 55-85 9.0-15.0
Scores

56.70

Percentage of Candidates

Figure 9: Candidates’ Performance on Question 1
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The candidates who performed well in this question were able to answer
the five items given. They also identified the mistakes that made the
given sentences not to be eloquent as required.

For example, in part (a), one of the candidates who performed well
provided his/her answers as follows:

(1) (Lol (nall Joaf (i cpllus¥) g 5iiy 207 (o 2adng sl Shl] ple 0
LSl 5 et Yy c4a0dill p333ul) Educational Bayani is the education
in rhetoric education based on different types of styles of conveying
messages such as Tashbihi, Istiaara and Al-kinaya.

(2) (Lialict po St pusiial 2 NS/ dislhro (oo 42 20)) “Rhetoric is the balance
of speech and its eloquence while ( 5_aLhlf Liw LLlY o dalail) Lo/
lpdua Sl o pmitlly LIS G Sanin dugilad) agill ) 5 liid)
“Eloquence is clear and obvious words that lead to understand in use
among writers and poets that result from the presence of a good
position in the sentence”.

(3) ( P Ly 5 L) Y il ZalS e hly Yy sy wlSias oy o5 S
Lii aISially) “The words are said to be eloquent or the speaker is an
eloquent and it is not said that the word is eloquent because rhetoric
is a description of speech and the speaker only.

(4) (e L f dag ) o o sliy 2SI dalad (3éad) “The eloquence of
speech is approached by not having four or six defects”.

(5) ( ~cadl AT 259 cupiall oy LalSlly sl 15 Anpacd it Ll 3,5
eeid! 4 A/ Sl - pulidlf dillse — 4f il The word is not fluent if one of
the following defects is accompanied by the word: Tanafufuru al-
hurufu — Al-gharaba — Mukhalafatu-al-qiyasi- Al-karahatu fisam-i.

In item (b), one of the candidates who performed well in this question

identified the mistakes that made the given sentences not to be eloquent
as follows:
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(1) (Limalf 4 diiadf elladl 4di) “The king has spread his tongue in the city.
(wﬂl;.fl 9_4 Olad AalS 038 Nariv/ s g'}i.u.// ..y.i}i/b “Semantic
ambiguity due to the use of this word “tongue” as a spy”.

(2) (i cim i i A el y * 48 OlSes c1m ) “Harub’s grave is located in
a place where there is no other grave near the grave”.
(ledgm g Ade T cuuy ClalS)) L) “Because of the convergence of
the suffixes of its letters”.

(3) (faswas e o (5pas cili * paais] hrial) dasa lea dalaa) “O° wild
dove of Jandali stone, sing again, sing loudly here you are in front
of the beautiful woman Sauda likes to hear”.

(paey e o Ushie dilsy) lilae mwl (35S cuw CAilsY wili)
“Consecutive additions because of the name are often added”.

(4) (ane il Ol 5 Hpaly * 23] Ll U 15$ ) “How will the father of
all creatures be Adam and Eva? when you (Muhammed) and your
father are the created people”.

(esdly Jaisal) o o Cpa Ll 2uinil) “The complexity of the word
due to the separation between Al-mutadau and Khabari”.

(5) (oo tawa (e da_la K 4 * 4 4 = )l plaia/ i 4ilS) “As if in every
wound he suffered there was a soul from the pain he suffered and
there is a soul in every part of his body”.

(32l iy (5 AT dag 5_pe 20T sy Sil) 5459 “To0 many repetitions of a
word or words in meaningless”.

This good performance shows that the candidates had sufficient

knowledge of metaphor. Extract 9.1 is a sample of good responses from
one of the candidates.
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Extract 9.1: A Sample of Correct Responses to Question 1

In Extract 9.1, the candidate identified correctly the mistakes that made
the given sentences not to be eloquent.

Furthermore, the candidates with average performance were able to
explain correctly the difference between Al-balagha and Al-fasaha, and
clarify two or three elements that lead to a sentence being eloquent and
the time when the word will not be eloquent. Moreover, some of the
candidates were able to provide the correct responses to the two or
three out of five items in identifying metaphors in the given sentences.
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However, there were 17 (17.53%) candidates who did not perform well
in this question. These candidates provided incorrect responses to the
five items given. This shows that the candidates had inadequate
knowledge of Al-balagha and Al-fasaha.

For example, in item (1), one of the candidates wrote that (L&)
rhetoric and another one wrote as ((laal/ ale) education al-maani is the
education that based on different types of styles of conveying messages
such as Tashbihi, Istiaara and Al-kinaya instead of (ol ale) education
al-bayani.

In item (2), one of the candidates differentiated between al-balagha and
al-fasaha as follows: (aid Lillls valy dalailly  inally Lillls sady &)
“Rhetoric refers to speech and meaning while al-fasaha refers only to
speech. Another one wrote ( JlS Hear A0 Al 4 4alailh) “Eloquence
conveys full meaning and (JelS Az G ¥ Al 4 45L1) “Rhetoric does
not convey complete sense” instead of ( sl aibal W NSN Lislha 4 L)/
4ialai #9) “Rhetoric is the balance of speech and its eloquence while
( S o Mawiaw Y Lo gilall pgill ) 5 poloial) 5 pp LY Linl) BLTY o dalcilf Lol
lgiua HlSal o[ mdl/5) “Eloquence is clear and obvious words that lead to
understand in use among writers and poets that result from the presence
of a good position in the sentence”.

In item (3), one of the candidates provided his/her response as follows:

(Leddll ade (g0 iy 458 Ligls LalS - My ¥ g 6oty alSia y cinls IS ME) “The words

are said to be eloquent or the speaker is eloquent and it is not said that

the word is eloquent because rhetoric is taught”. Another one wrote (¥
e M/ Juad ,4) because that are rhetoric classes instead of (¢l 28 My
Lo IS5 all g IS g piT LDl Y Lialy LadS : iy Vg tials aISia ) “The

words are said to be eloquent or the speaker is an eloquent and it is not

said that the word is eloquent because the description of rhetoric is

based on the speech and the speaker only”.

In item (4), one of the candidates wrote as follows: ( A/ 2! 4aliad (giaii
e L o Lay f Lgai cuil§) “The eloquence of speech is approached by
having four or six defects”. Another one wrote ( 2 W/ 4 a8V daLicd
I8 e =) “The eloquence of speech that indicates a complete
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meaning” instead of (cesse Liw of Loy Jf o 0 plss 2SI dalici (3daT) “The
eloquence of speech is approached by not having four or six defects”.

On the other hand, the candidates also failed to identify the mistakes
that made the given sentences not to be eloquent.

For example, in item (1), one of the candidates incorrectly wrote as
follows: ( -5 IS 548 -4 (5 pinall yiinl) -3 JLdll) i) -2 clalSl/ 4L -]
lilayl a5 “(1) the convergence of the suffixes of its letters (2) The
complexity of the word (3) Semantic ambiguity (4) Too many
repetitions and (5) Consecutive additions instead of (1) “( 4tiwd/ cllelf ubi
4ina/ 9 “The king has spread his tongue in the city”. ( ¢ssieel/ wdeil/
cugulad) 4 Glad LalS o8 Jaxiu/ cauwi) “Semantic ambiguity due to the
use of this word “tongue” as a spy”’.

(2) (e eim _d i il # 48 GlSes cuja ) “Harub’s grave is located in
a place where there is no other grave near the grave”.

(ldsm g e i diT cuu clall) 4Li5) “Because of the convergence of the
suffixes of its letters”.

(3) (passay alew o (5 pay il * (ra] Jriall dasa Lo ja Lolan) “O° wild
dove of Jandali stone, sing again, sing loudly here you are in front of
the beautiful woman Sauda likes to hear”.

(gasia g s (o AU aie L6l liliae ana/ ()5S sy lilial) wali) “Consecutive
additions because of the name are often added”.

(4) (Qane cif ol y gl g * 2] Ll Ul 5 5$ Ah) “How will the father of
all creatures be Adam and Eva? when you (Muhammed) and your
father are the created people”.

(sdly Jaisal oo Joc Cpa Ll adieill) “The complexity of the word due
to the separation between Al-mutadau and Khabari”.

(5) (a0 4ewsa o data K 4 * 4 44 7 Jll plaia/ 6 4l§ “As if in every

wound he suffered there was a soul from the pain he suffered and there
is a soul in every part of his body”.
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(5l i (5 AT 301 5 pa 2987 curean S 5 42§ “Too many repetitions of a
word or words in meaningless. Extract 9.2 is a sample of an incorrect
weak response.
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Extract 9.2: A Sample of Incorrect Responses to Question 1

Extract 9.2 is a sample of part of responses from a candidate who
provided incorrect responses to all the parts of the question.
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3.1.2 Question 2: Simile, Metaphor and Metonymy

This question had four parts, (a), (b), (c) and (d). The question aimed at
assessing the candidates’ ability to understand the concepts of (4xuiil)
“Attash-bihu>, (Jaal) “Al-majazi” and (LU “al-kinaya” in rhetoric.
The question was set from the topic of Rhetoric.

In part (a), the candidates were required to identify (4wdl/ 4a4) “Wajhu
shabahi” from the following sentences:

(1) (pie Caa¥ il by g * Lo ogaslly dus uiif) “This one smells like
misk, face like dinar * and fingers like a tree with red fruits”.

(2) (cualll il (5 g 28y * ol ¢ Lalf LailS) “They are like water in purity
* And the beard has been melted”.

(3) (sl g1 4 5 cisallS i) “You are like sword in cutting problems
completely”.

(4) (Lald) U ut) BuLllS * of Cirzall Ja saall) “Life like a stranger or * a
traveler has no residence”.

(5) (& lwall pssad g 45 45 * lgdlal 4 HXE/ 509 Y our manners in softness
*and beauty like that morning breeze”.

In part (b), they were required to analyse five riddles in the following
sentences:

(1) (sl A cladlilf (g0 pulil] - AT oLl jif L3S “A book has been revealed
to you to bring people out of the darkness in to the light”.

(2) (galial 5 leilhad yla g cnis) 25 Lu g5 50¥ A “I see that heads are
ripe and needed to be harvested and I am the owner”.

(3) (Lbw 0¥y Maa cuedl (54 LS “He was my younger brother; he is
pleasing people’s eyes with his beauty when they look at him”.
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4) (ne! lia i Y g ga Cuawdl) “Their swords have sworn that they do
not lose their right”.

(5) (2w diilay pli Moy Y5 * 0 gad _mtll (idia (1 AL ] ali) “T have never seen
a person walking with the sea and I have never seen a person hugs a
lion”.

In part (c), they were required to specify the meaning of the negation
form of (¥ “La” in the following sentences:

1) (eled/ hé Loy Lis/35 ¥ L7 ) “God do not punish us for the mistakes
done by fools”.

2) (alhi Yl muals * Jjasi b Jb J L) “O° May the night be long so, O’
be a deep sleep, O’ morning do not rise quickly and do not rise at
all”.

3) (¢gel adai ¥ redladlid &l 6d) “When you tell your servant: you should not
obey my command”.

In part (d), they were required to give two examples of metaphor for
(Lol “Annisba”.

The question was attempted by 73 (73.00%) candidates who sat for the
Examination. The analysis shows that, 9 (12.33%) candidates scored
from 9 to 10.5 marks. Moreover, 29 (39.72%) candidates scored from
5.5 to 8.5 marks and 35 (47.95%) candidates scored from 0 to 5 marks.
The general performance was good because 38 (52.05%) candidates
scored from 5.5 to 10.5 marks as illustrated in Figure 10.
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Figure 10: Candidates’ Performance on Question 2

The candidates who performed well in this question managed to identify
(4wl 42 9) “Wajhu shabahi” from the given similarities. They also were
able to analyse five riddles in the given sentences. Moreover, they could
specify the meaning of the negation forms in the given three sentences
and lastly they gave two examples of metaphors for (4wil) “Annisba”
as required.

In part (a), one of the candidates provided his/her responses as follows:

(1) (pde <Y il bl pi * L o aslly s uiil) “This one smells like
misk, tface like dinar * and fingers like a tree with red fruits”.
(digdaal Lia 4uilf 42 5) “The resemblance here is omitted”.

(2) (cwadl il (s 25 * ¢ liva 4 o Lal) LailS) “They are like water in purity
* And the silver has been melted”.
(¢ lia 4 -4uid/ 42 5) “The resemblance here is: in “purity’.

(3) (sl g/ 4 o8 cisallS i) “You are like sword in cutting problems
completely”.
(csksl) g1 4 A4 :4uill 4a4) “The resemblance here is: in ‘cutting
problems completely’.
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(4) (dald) o (s CiehallS * 5 Cisaall Jia janlf) “Life like a stranger or * a
traveler has no residence”.
(Ll d ) c42il) 455 “The resemblance here is: in ‘has no
residence”.

(5) (ol aaai lgesi 4355 * Leildl 4 B3/ 505 “Y our manners in softness
*and beauty like that morning breeze”.
(4 lgib 4 40d) 45 5) “The resemblance here is: in ‘Softness and

299

beauty’”.

Moreover, in part (b), one of the candidates provided his/her responses

as follows:

(1) (2ol a9 0 uidial) o Jof) Lill] paiio] oF ialssl) polng ygills (o] 40l
Llla iy il 5 Lung i 6 flias] s (Ao (53¢ ] 34 5 4udiall) “The conversion
is compared to the light due to the quality of associated to it which
is whiteness, as an Is-tiara tas-rihiya and its context is the situation.

(2) (54 wails) e el 4l ja gy ot dudial) Cida oF & padlly g5 M Cpuid
newipfr Ay il diiSal) 5 lein ¥ Juw e ”Car.i.,:/") “The heads are
compared to fruits for the sign of something from (<=i) “It was
ripe”, as metaphor and its context is (=i “It was ripe”.

(3) (Maa Ly illy edpay pal Lpnsi 5_jain Juss (Ao Saalls (pal) glial 42d) “The
Eye pleasure is compared to the beauty as an ‘Is-tiara tas-rihiya’ and
its context is a beauty”.

(4) ( aad] 05 4ajls] o 2l 42l) s 40 il Cidn g echa o i guund) Cguid
Crand Ly ill LuiSall 5 jaiuy) Juw Ae) “The swords are compared to
people for the sign of something from (<awd) “Sworn” as an ‘Is-
tiara and its context is (<sawdf) “Sworn”.

(5) (WY 585 4 wudall Ao S Lilll _goiv] oF dolaidl] palay 3 b 40
il iy jilly Ly pal 5 fadun) fuw (e bl 45 4udel) “The man is
compared to a lion due to the quality associated with bravery, as an
Is-tiara tas-rihiya and its context is (4dilz) “hugs him”.
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In part (c), one of the candidates correctly answered as follows:

(1) (plgdasl) ad Loy Lis/35 ¥ L7 ) “God do not punish us for the mistakes
of fools”. (¢led)) “Praying for”

(2) (athi Y if prsia b * Jj a5 b Jb L) “O’ May the night be long so,
O’ be a deep sleep, O’ morning do not rise quickly and do not rise at

all”. (e “Desire”

(3) (g adai ¥ relaslid &l 4d) “When you tell your servant: you should not
obey my command. () “The threat”

In part (d), one of the candidates correctly answered as follows:

(1) (2L A hiar 2aal) # 4Lb 2y sall) “ Yumnu® follows its shadow, glory
walks in it ‘Rukabihi’

(2) (gt ) Ao Cypa 4 4 * (525 55 5 pally dalawd] (5)) “Patience,
kindness and dew in a dome struck al-Hashraj”.

This shows that the candidates had sufficient knowledge of (<xii)

Attash-bihu, (Ja<l) Al-majazi and (LU al-kinaya in rhetoric. Extract
10.1 is a sample of a candidate’s correct responses.
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Extract 10.1: A Sample of Correct Responses to Question 2

In Extract 10.1, the candidate provided correct responses to question 2.

On the contrary, the data show that 29 (39.72%) candidates performed
averagely. Majority of the candidates identified (4=iff4sy) “Wajhu
shabahi” and specified the meaning of the negation forms in the given
sentences. On the other hand, these candidates failed to analyse five
given riddles correctly. They were also unable to write two examples of

metaphor for (4wil) “Annisba”. Thus scoring average marks.

59




Conversely, further analysis shows that 35 (47.95%) candidates
performed weakly in this question. These candidates failed to identify
correctly the characteristics of words in the given sentences. For
example, one of the candidates identified “Wajhu shabahi” as follows:
(1) (i) “dinars”, (2) (ceadll b)) “silver melted and (5) (zlual/ a2
morning breeze instead of (1) (isdsel/ 4uill 4ay “the omitted
resemblance” (2) (slica .4 “In Purity” (5) (s leih/ 9) “In softness
and beauty”.

They were also unable to analyse five riddles in the given sentences.
Most of them identified five riddles instead of analysing them. For
example, one of the candidates wrote as follows: (1) (Leay_ualll 5_leiv Y)
“Al-istiara tasrihiya” (2) (&Sl 5 d=in¥) “Al-istiara makniyah” (3)
(Laypaill 5 leiw¥) “Al-istiara tasrihiyah” which were incorrect. The
correct responses were :(1) ( JW Lilll _paiv) af yabull palag ysills (s3¢ ) 42l
Lulla Ly il 5 Ly il 5 ] hpsas (e (526 585 usiiall s5ill 58 5 4 4uidial] o)
“The conversion is compared to the light due to the quality associated
with whiteness, as an ‘Is-tiara tas-rihiya’ and its context is the situation.
(2) (345 sl o o pids 4 oy o dusdial] Ciin bF Y pallls gy M g
" Ay il g ediiSall 5 laiis Y frss Ao "ois/") The heads are compared
to fruits for the sign of something from (<x=i “It was ripe”, as metaphor
and its context is (<= “It was ripe”. (3) ( b (Ao daadly el g lisf 403
Maa Ly jilly edpay pai 4anui 5_laiuh) “The Eye pleasure is compared to the
beauty as an ‘Is-tiara tas-rihiya’ and its context is a beauty”’.

Furthermore, they could not specify the meaning of the negation form of
(¥ “La” in the given three sentences particularly in items 2 and 3. For
example, one of the candidates provided responses as follows: (2) ( &
LT Y i mua) “Oh morning, stand up, don’t go out” the negation form
of (¥ “La” is meant (¥ command instead of (,ail) “Desire” and (3)
(¢s9/ &&7 ¥ “Don’t not obey my order.” the negation form of (¥ “La” is
meant (&Y “Confusion” instead of (¥4 “Threat”

Moreover, they failed to bring two examples of metaphor for (4wi/)
“Annisba”: For example, one of the candidates wrote as follows: (1)
(Ll £ Lk “The sons of the Nile which was wrong. The correct answer
was (il s 4 Laal) “Their love in the river Nile”. Another
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candidate wrote (i 4 (Gaalh) “Truth in lying” instead of ( 4 Gaal/
4.J) “Honesty is in his blood”.

This shows that the candidates had inadequate knowledge of (<xii)
“Attash-bihu>, (Jaal) “Al-majazi” and (LU “al-kinaya” in rhetoric.
Extract 10.1 is a sample of a candidate’s incorrect responses.
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Extract 10.2: A Sample of Incorrect Responses to Question 2

In Extract 10.2, the candidate identified five riddles but he/she could
not analyse them as required thus, scoring low marks.

3.1.3 Question 3: Literature (Poem)

The question had two parts, (a) and (b). The question intended for
testing the candidates’ ability to comprehend the given poems. The
question was set from the topic of Literature.

In part (a), the candidates were required to write five missing verses of
the poem provided:

e M) pdi o) G Sy K (1)
................................ * o g dlo g0 el dyCigd (2)
elpwo pabigdadaty * i, 3)
................................. ¥ ap ey i oli (4)
_GYJ—”G_)ngg_}A:’J B tvtvtrtesrisisesiseseseses (5)



(1) e, The truth says that the benefit of affliction.
(2) I witnessed it, so stand up forit. ...........coooviiiiiiiiiinn..n.

(3) e He praises and supports him both.
(4) My father and his father and my dignity. ...................oooii
(5) e And my sea is not disturbed by buckets.

In part (b), the candidates were required to explain the intended
meaning of the following verses of poem:

ol il wlly ol g oo * 4 is diaga g 2wl a5 (1)
i) pall eyl iy i * Glasadli ad L J3) oo KT (3)
s By 46 my cudly * il o labull Ci i g3l Jia (4)

B ey shalle # oaay adiy wlell Spuad ¥ (5)

(1) And whoever does not remove his weapon from his basin, he will be
destroyed, and whoever does not oppress people will be oppressed.

(2) If your secret is what our envious said. So what is the wound if the
pain pleases you.

(3) If everything is decreasing. Do not be deceived by the good life of a
person.

(4) This is the one who knows the brunt of A/-Bat-hau. And the house
knows it and the solution and the sanctuary.

(5) Do not think knowledge will benefit him alone. Unless his Lord is
crowned with morals.

The question was attempted by 97 (97%) candidates. Among them, 41
(42.27%) candidates scored from 9 to 15 marks. Moreover, 29 (29.89%)
candidates scored from 5.5 to 8.5 marks and 27 (27.84%) candidates
scored from O to 5 marks. The general performance in this question was
good as 70 (72.16%) candidates scored from 5.5 to 15 marks. The
candidates’ performance is summarised in Figure 11.
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Figure 11: Candidates’ Performance on Question 3

The analysis shows that the candidates who scored high marks in this
question wrote five missing verses of the poem provided. They also
explained the intended meaning of the verses in the poem given. This
indicates that the candidates had sufficient knowledge of the topic of
Literature.

For example, in part (a), one of the candidates answered his/her
responses as follows:

eOill pii ) Gl Sy ¢ Je il il Jiy (1)

pLii Ygpoii Yailid # o p oo sif 41 cigd (2)

elsw o paisgdatary ¥ aSiodlf Jouy sags ed (3)

o) aSio deao a4l ¥ pajegodllss o Gl (4)

Yot 0S¥ s muy * 4 cye Yol dilud (5)

(1) God said I had sent a servant * he says the truth that the benefit of
affliction.

(2) I witnessed it, so stand up for it * so you said we do not do and we
do not want.
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(3) Who satirizes the Messenger of God among you? * he praises and
supports him both.

(4) My father and his father and my dignity*for Muhammad's dignity
of you is a self-sacrificing.

(5) My tongue is strict and faultless * and my sea is not disturbed by
buckets”.

For example, in part (b), one of the candidates provided his/her
responses as follows:

Al olil] allsy ol (3o g pigs # 42 daga e 336l s (1)
e sy ¥ lismiia JLS (0 g 5Lall 1824 (1 5S) 4 Nean 40l S e 2813 o] 30 (5T
A pally alilf 3 aLLS

A aSla ) 3] ot Lad #* Lisuls Ji La aS5u OIS ) (2)
Lidie ol Y a3 B3 (a)36 5 padl B 5 aSLia Jf 28 Lisuals S5 SIS 1/

by Slaall cpby iy i ¥ Gluadiaile [ o ik KT (3)
038 4t ASSTT 416 sal) b de sy o Gl iis N f3a e 5 i DlaasY s
A kil

adly ol 4d gyl * illg o labul) Ci g7 23l fin (4)
Ly gl datd g 480 yin f i o puia [3] (a g 4 0 jT g 4da a5 530 Jia )
lgle

By gsialle ¥ oaayadlyalell Suuad Y (5)
Bkl Ly fia Llate ialom 55 al 13 £ ¥ A alall 3l

(1) And whoever does not remove his weapon from his basin, he will
be destroyed, and whoever does not oppress people will be
oppressed.

- Whoever does not defend his dignity with his weapon will be the
target of the archers, and whoever is weak, does not have the
strength to oppress others, the people will oppress him.

(2) If your secret is what our envious said. So what is the wound if the
pain pleases you.
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- If the saying of our envious person has satisfied you and brought joy
to your heart, then that is a wound that has no pain for us.

(3) If everything is decreasing. Do not be deceived by the good life of a
person
- Everything that reaches its end has a limit for its growth and
visitation, so it only has to start decreasing and fading, and
accordingly, a person should not be deceived by the good life,
because he is controlled by this theory.

(4) This is the one who the land of Mecca that the feet stepped on
recognizes * And the house knows it and the lawful and unlawful.
- The one you ignore and despise is the one who, if he walks,
recognizes the land of Makkah, and the holy feet stepped on

(5) Do not think knowledge will benefit him alone. Unless his Lord is
crowned with morals
- Knowledge itself is of no use if its owner is not adorned with good
looks.

This good performance suggests that these candidates had sufficient

knowledge of the Literature. Extract 11.1 is a sample of a candidate’s
correct responses.
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Extract 11.1: A Sample of Correct Responses to Question 3

In Extract 11.1, the candidate explained the intended meaning of the
verses of a given poem, although there were a few grammatical errors.

On the contrary, the candidates with average performance were able to
write five missing verses of the poem provided. Moreover, they
explained about one or two verses of the poem out of the five items.
Hence, they obtained an average performance.

Additionally, the analysis shows that candidates had weak performance
in this question. In part (a), some of the candidates left the items
unanswered. Others repeated the items while some of them provided
incorrect responses to the given items. For example, one of the

candidates wrote five missing verses of the poem provided as follows:
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ol s 3f sl Sy #zadl Jeil(1)
AoLall * 6 4 G20/ g0 4dd 41 Cugd (2)
elpw o paligdadery * Sl Ao ou e (3)
dipn ¥ paryedllys ol (4)

(1) Right say* the truth says that the benefit of affliction.

(2) I witnessed it, so stand up for it* Sincere.

(3) Moses*. If he praises him and rescue him, it’s the same.

(4) My father and his father and my dignity*Gabriel” which were
incorrect missing verses provided by this candidate. The correct
answer was as follows:

eOill pii ) gl Joiy * Je il i ) Sy (1)
pLii Yoo oii Yailid # o g o g0 i 41 ciigd (2)
el o_paiigdaday ¥ aSiod] Jouy sagy e (3)
o aSio daae a4l ¥ e godllss o Gl (4)
(1) God said I had sent a servant. * he says the truth that the benefit of
affliction.
(2) I witnessed it, so stand up for it. So you said we do not do and we
do not want.
(3) Who satisfies the Messenger of God among you? If he praises him
and rescue him, it’s the same.
(4) My father and his father and my dignity. For Muhammad's dignity
of you is a self-sacrificing.

Furthermore, in part (b), many candidates provided unclear
explanations on the intended meaning of the verses of poem given. For
example, one of the candidates provided unclear intended meaning of
the verses of a poem given as follows in item (1) ( <asa e 33 &f (e s
ALl wlill allsy al (a5 a4 * 425k) “And whoever does not remove his
weapon from his basin, he will be destroyed, and whoever does not
oppress people will be oppressed”. This means that: ( ¥l of s wlill 1o
Al ¥ cify pulill AT ally) “Among the people, and that the people do not
oppress the last of the people, and you do not oppress” instead of ( e ¢s/
Al o 55y ¥ lima SIS oy bla ll lia 15S Dby 4ie) S pe pdly af
gtk (wlillld) “And whoever does not remove his weapon from his
basin, he will be destroyed, and whoever does not oppress people will
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be oppressed”. This suggests that these candidates had insufficient

knowledge of the topic of Literature. Extract 11.2 is a sample of a
candidate’s responses.
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Extract 11.2: A Sample of Incorrect Responses to Question 3

In Extract 11.2, the candidate provided unclear and incorrect intended
meaning of the given verses of poem.
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3.1.4 Question 4: Literature (Prose)

The question had three parts, (a), (b) and (c). The question intended to
test the candidates’ ability to comprehend the Arabic prose. The
question was set from the topic of Literature.

In part (a), the candidates were required to read the following prose and
then to answer the questions.

ﬂwf“;dftddﬁdaogj i Cla (pa g oda lile (3o él g0 4 /Juu/wa/lg._jf
S iy 6 phag scrlaSonn LT [l s ¥ g8 s Lp]

“O People, listen and be aware, whoever lived died, whoever died
passed away, and everyone who is coming is coming, there is news in
the sky and a lesson on earth. Punctual verses, rain and
vegetation..........

(1) (fbsl/ ods Jld 16) "Who gave this speech?

(2) (feubsl//is 447 %) "When did speaker die?"

(3) (feukill ile pae 5/ 4 "In which era did the speaker live?"

(4) (fopbill fis Siaty [ila 5e) "What does the speaker is talking about?"
(5) (Fubsl/ oda (ye wdiui [ils) "What do we benefit from this speach?"

In part (b), the candidates were required to complete the following

prose:
et el gU ) g lind Y Llla] dguad] 5

M pdl] A 4 e 8 ady Y
“And the high forehead does not need a crown to decorate
1| PO he is not ashamed except for what is a scratch of honour”.

In part (c¢), they were required to explain the meaning of the following
vocabulary:

(#_ell cawn) “It is enough for person” - (isiel) “Soft” - (4isle) “Unclean
- (pluslh “Necklace” - (S “Dirt”.
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The question was attempted by 34 (34.00%) candidates out of whom,
17 (50.00 %) scored from 0 to 5 marks; 6 (17.65 %) scored from 7 to
8.5 marks and 11 (32.35%) scored from 9 to 13 marks. The candidates’
general performance in this question was average since 17 (50.00)
candidates scored from 7 to 13 marks. The overall performance in this
question is presented in Figure 12.
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Figure 12: Candidates’ Performance on Question 4

The analysis shows that 11 (32.35%) candidates performed well in this
question. These candidates understood the requirements of the question.
They managed to complete the given prose. They were also able to read
and answer correctly the questions. Moreover, they explained the
intended meaning of the vocabulary given.

For example, in part (a), one of the candidates provided his/her
responses as follows:

s 5o Lin (ot SN (1
ol 4ol i pil] Ly o 5oL 5230 s G b kel i3 (2
A ol i ksl il (3

XY A 5oy ) 5 i e cpbsd] Eisy (4
o 4Uli llia SIS o pell alina (52 Lipaa Cole 3 5o g aé g 4if Lukaid 538 (ya wleii (5
Al Aolal] o _yiiil] g o laia ¥y idl] mad) M oo da il
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1) Qass ibn Sa 'dah al-Ayadi is a speaker of this speech.

2) He died shortly before the mission.

3) He lived in the pre-Islamic era.

4) He talked about God’s power and call for reform”.

5) We learn from this sermon that few men can call for social and
religious reform and refrain from bad habits”.

In part (b), one of the candidates provided his/her responses as follows:

Y. Uil y i pililly ¢ plaal) _sriall 3y Lgii iy g U () g lind Y Lallal Lguad) 55"
Lof cagrtialio g agrst g mg L (10 [ 90 L Lag (9 ALY Rdali 64358 Y ol 5 iy
iy cdaii o Lga g cche gl ol G iy O 534 (50 dasand iy p bl
i g (o Al g5 al g ¢ all s e 530 40 (5laT w) o sl i casly cAdiabsa

M pdl] i i Lie 3 sy Vg ce il o udaty ¥ ol gy Vg 5o Lial]

“And the high forehead does not need a crown to decorate it. And the
chest is full of honor and virtue, so let the proud be proud of whatever
they want of their silver, gold, and positions, while the honorable is only
proud that he walks among people with a high head, a raised forehead, a
reassuring soul, and a pure white dress, not suspended an atom of the
dust of shame, and not stained by the impurities of meanness He is not
afraid of anything, he does not overlook anything, and he is not
ashamed except for what is a scratch of honor”.

Moreover, in part (c), one of the candidates provided his/her responses
as follows:

(48S = ¢ _sall cawn) “It is enough for person” - (hbse (3, = Cisial)
“Soft” - (diwge = Ll “Unclean - (el o cpi 5L = aluylh
“Necklace” - (#La/ =k “Dirt”.

This good performance suggests that the candidates had sufficient

vocabulary and knowledge of the topic of Literature. Extract 12.1 is a
sample of a candidate’s responses.
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Extract 12.1: A Sample of Corfect Responses to Question 4

NS

< ';l.c_': ” J2 )‘ \'.’_'%

In Extract 12.1, the candidate answered correctly the questions related
to the passage given, although there were some spelling mistakes.

Furthermore, data show that 6 (17.65 %) candidates scored average
marks in this question. Most of the candidates managed to complete the
given prose, but failed to answer the questions related to the previous
passage given. Also, they were able to explain the intended meaning of
the vocabulary given. Hence, they obtained average marks.

Besides, the analysis shows that 17 (50.00 %) candidates scored low
marks in this question. Most of candidates failed to provide correct
answers to all the parts of the question. Other candidates provided
incorrect responses to the two parts, particularly part (a) which required
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them to answer the questions related to the previous passage. Moreover,
in a part (c), they failed to explain the intended meaning of the
vocabulary.

In part (a), for example, one of the candidates wrote: (1) ( bl sis Jild
<wli g oluws 44) “Hassan bin Thabit is the one who gave this speech”
instead of (gl Y saeblas oy ud g0 Lakdd) Jia Jildlh) “Qass ibn Sa'dah al-
Ayadi is a the one who gave this speech” (2) ( _is¢b 2o cusladlf 457
2w Y) “He died after coming of Islam” instead of (Lied/ Lo 449 “He
died before the mission” (3) (XY _rto_piae 4 cubil dle) “He lived
in the era of early Islam” instead of ((AbLlad/_pael/ 6 cwubil jile) “He
lived in the pre-Islamic era” (4) (cuslins (wil/ (pe bl /ia Enaty) “Ha
talked about intelligent” instead of ( 4/ 8sedlls ) 5 33 (e b/ 38 Cualy
sl “He talked about God’s power and call for reform” (5) (& i
iyl g glas _puall) “We take advantage of the chest of full of honor”
instead of (plesll A gling ¥ i plly g gloa _poall 5f 2étud) “We take
advantage that a chest full of honor does not need a metal”.

In part (c), one of the candidates explained the intended meaning of the
vocabulary given as follows: (1) (/ses /szaw/ -¢_sol/ caws) “Listen and
understand” (2) (ua¥ -cisial) “Earth” (3) (claSae -4isls) “Manners”
(4) (M5l -alu s “Respect” (5) (ola -0/ “Times” instead of ( cuwa
44$ = ¢ ol “It is enough for person” - (bse (34 = cisial) “Soft” -
(L = Lsle) “Unclean - (uiall ley cw i 54l = plu sl “Necklace” -
(&Lus/ =0k “Dirt”.

This weak performance suggests that the candidates lacked sufficient

vocabulary and knowledge of the topic of Literature. Extract 12.2 is a
sample of a candidate’s responses.
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Extract 12.2: A Sample of Incorrect Responses to Question 4

In Extract 12.2, the candidate provided incorrectly the questions related
to the passage given. Moreover, he/she explained incorrectly the
intended meaning of the vocabulary given.
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3.1.5 Question 5: The History of the Arabic literature

This question had three parts, (a), (b) and (c). The question tested the
candidates’ ability to understand the history of the Arabic literature. The
question was set from the topic of the literature.

In part (a), the candidates were instructed to answer the following five
items:

(1) (el ladlesf pa LY ypesnll (10 4oy ff Sy “Write four literary eras
chronologically”.

(2) (fhadly mdl s (3 AN Lo) “What is the difference between proverbs
and poems?”’

(3) (¥ L/ 0 3o piiui 3l “What benefits do we get from reading
literature?”

(4) (priadall jeldl) il 4ds 3 puaialf Lo) “What do we mean when we say the
mukh-dharim poem?”

(5) (g 33 o giiadl -] LY 2 lo¥ e K i hile g3 pand]
/522l “What era did the following poets live in?
a. Al-mutanabi.
b. Dhul-isbai-al-uduwani”.

In part (b), the candidates were required to write briefly biography of
the poet Zuheri. The question was as follows:

(crades w _pa_i_elill e 5 ja pa LalS iS)) “Write the brief biography of the
poet Zuheri bin Abiysulma.

In part (c), the candidates were required to explain the reasons that led
critics to see that Hassan bin Thabit’s poems were more beautiful
before Islam. The question was as follows:

($Ma ¥ (S e (558 Llalad] 6 ol o Gpasn ) G SEil) a5y JiLa))
“Why do some critics see that Hassan bin Thabit’s poems were more
beautiful before Islam than during Islam?
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The question was attempted by 97 (97.00 %) candidates out of which
11 (11.34%) candidates scored from 0.5 to 2 marks; 31 (30.93%)
scored from 5.5 to 8.5 marks and 56 (57.73%) scored from 9.0 to 13.5
marks. Thus, the general performance of this question was good since
86 (88.66%) candidates scored from 5.5 to 13.5 marks. Figure 13
shows the candidates’ performance in this question.
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Figure 13: Candidates’ Performance on Question 5

Data analysis revealed that 56 (57.73%) candidates who attempted this
question performed well. These candidates answered correctly the five
given items. They also explained briefly about the biography of the poet
Zuheri bin Abiysulm. Moreover, they managed to explain the reason
that led critics to see that Hassan bin Thabit’s poems were more
beautiful before Islam during the Islam.

In part (a), for example, one of the candidates provided correct answers
to the five given items as follows:

(1) (a) ( (gill mall 201 Tl Lale 150 Msns o Y _ysgds Jid [31 o lal) _pnl/
pluy wale &) Lo “The pre-Islamic era began about 150 before the
coming of Islam and ended after the mission.

76



(b) (cwdlll elils sge olgiily (g iils 2Nor Y ysgds [3 2N Yl _sra yae) “The
era of early Islam began with manifestation of Islam and ended with
the end of the era of the Rightly Guided Caliphs in the year 40H”.

(c) (2132 Liw lgbasiss N (g 5il s 4 40 Liss Ly oY) Ugal) olis [y 205 90 _puarell)
“The Umayyad era began with the establishment of the Umayyad
state in the year 40H to its fall in the year 132H”.

(d) ( Lo Iy Lsiws (pgiil s 4 132 Lisw Lpcalsnll U pil) pliis [ 2 puslanl] pucel/
4656) “The Abbasid era began with the establishment of the
Abbasid state in the year 132H and ended with the fall of Baghdad
in the year 656H”.

(2) (L o/ Lol (e 2atey ials o g0 (Js8 38 Siall Loy (pila (5 s IS 38 il
“A poem is a set of word with rhymes and scales while proverb is a
short and eloquent statement based on events”.

(3) (chand) didy piailly (3535 Liafy clens uSLsis cpllaally UYL Ly pill] Luati
“Linguistic growth in expressions, style and sentence structure and
also to taste and enjoy his beautiful art”.

(4) (P Yy Llalad) 6 ile il elill 48) “He is a poet who lived in two
eras which are before and during Islam”.

Mutanabiy was in the Abbasid era and Dhul-isbai-al-uduwani was
in era of early Islam”.

In part (b), for example, one of the candidates provided correct answers
to the five given items as follows:

pall ol o Leld GIS il dely Lo Usd () cuniy (alio (ol (o a4
La_iS LaSa Liia Joill (Golio ¢a Vol Line Lii clileal) cdauaf (g cpiiaall Lalal)
ALy plal) 4y il dayii clicall 08 CilSy Gl (e G bl ud LN g adl
Lies pmad janll o ils in o ble sl LaSall b Y 4ibillsa s fusl 4ilSi

s ale dlf L o Lins (J i 7
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He is Zuhair bin Abi Sulma. He belongs to the Madina tribe and his
mother’s tribe was Dhubyani. He was one of the glorious poets of the
pre-Islamic era and one of the followers of the Mu'allagat. He grew up
loving peace, speaking truthfully, religiously, and hating the wars that
broke out between Absy and Dhubyan. These characteristics were a
result of his long experiences, his original intelligence, and his
association with the people of wisdom and opinion. Zuhair lived until
he reached the age of ninety years and died before the mission of the
Prophet, may God bless him and grant him peace.

In part (c), for example, one of the candidates provided correct answers
to the five given items as follows:

< flial) g il ol g sl i labaiil] g ko jial) Lillaal) Gasaiony ¥ p O Y ¥

culd

“It is because Islam does not accept excessive exaggeration of words,
excessive pride, false characteristics, ethnic hatred and alcohol
description. Those things, during the pre-Islamic era, were the main
source of the meaning of Hassan bin Thabit’s poetry”.

This good performance shows that the candidates had sufficient

knowledge of the Arabic Literature. Extract 13.1 is a sample of a
candidate’s responses.
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Extract 13.1: A Sample of Correct Responses to Question 5

In Extract 13.1, the candidate provided correct responses to the items
given.

Further analysis shows that there were 31 (30.93%) candidates who
scored average marks. These candidates provided three or four correct
points in part (a). They also explained briefly about the biography of
the poet Zuheri bin Abiysulm, but their explanations were unclear and
had a lot of grammatical and spelling errors. Therefore, they could not
score full marks.

Moreover, the analysis of the candidates’ performance shows that 11
(11.34%) candidates scored low marks. These candidates lacked
knowledge of the tested concepts, thus provided incorrect responses.
For example, in part (a), one of the candidates wrote incorrectly four
literary eras as follows: (ctielf -2 _udilf -z aw ¥ -c_sidll -f) “(a) Poem (b)
Noun (¢) Prose (d) Proverb instead of:

(a) ( (ooill Liesll 301 iy Lole 150 Msas pds Y] yogle Jid [ c Aslad] el
alu s 4ule ) La “The pre-Islamic era began about 150 before the
coming of Islam and ended after the mission”.
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(b) (cwdl il 2 lils sge oleiily g iils 2o ysgds [3 2N Yl _sra yae) “The
era of early Islam began with manifestation Islam and ended with
the end of the era of the Rightly Guided Caliphs in the year 40H”.

(C) (2132 Liw lgbrgics () (g il 5 40 Liss Ly ga ¥ Ul s [31 205 905 el
“The Umayyad era began with the establishment of the Umayyad
state in the year 40H to its fall in the year 132H”.

(d) ( e ks Logiiasy ogiil s 4 132 Lisw Lasslanl] L gall aliis [ puslonl] el
-4656) “The Abbasid era began with the establishment of the
Abbasid state in the year 132H and ended with the fall of Baghdad
in the year 656H”.

Another example in item (2), one of the candidates wrote the difference
between proverbs and poems as follows: ( _wddls a K Ao ¢ Lais/ 8 Laof/
diall 4 izall 44) “Proverbs is a closing any way and poem is the
meaning in the adjective” instead of ( _s4 Liall Lafs (i ()5 jse p S 54 s/
Ldd 4 Dola o saiey il sa J5d) “A poem is a set of word with rhymes
and scales while proverb is a short and eloquent statement based on
events”.

In part (c), for example, one of the candidates mentioned the reason that
that led critics to see that Hassan bin Thabit’s poems were more
beautiful before Islam as follows: (dgwlaie o_sead oo Clwsd ans 5%
“Because some verses of his poetry are similar”. Another example, one
of the candidates wrote the reason that that led critics to see that
Hassan bin Thabit’s poems were more beautiful before Islam as
follows: (gmtilf Li sof LaS (S uidiall sangs SLS 48} “Because he was attacking
the polytheists as the prophet commanded us” which were incorrect.
The correct response was as follows:

Y ALially LS rally kil i il g A | Lilloall asaons ¥ oS 59 -

JCuld

“It is because Islam does not accept excessive exaggeration of words,
excessive pride, false characteristics, ethnic hatred and alcohol
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description. Those things, during the pre-Islamic era, were the main
source of the meaning of Hassan bin Thabit’s poetry”.

This weak performance shows that the candidates had inadequate
knowledge of the Arabic Literature. Extract 13.2 is a sample of a
candidate’s responses.
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Extract 13.2: A Sample of Incorrect Responses to Question 5

In Extract 13.2, the candidate provided incorrect responses to the items
given.
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3.2 Section B: Essay Questions

This section comprised of three questions and the candidates were required to
attempt only two questions. Each question carried twenty (20) marks.

3.2.1 Question 6: The Story of Sindbad Bahri

In this question, the candidates were required to explain why Sindbad
nearly drowned in the sea on his first trip and how did he survive in not
less than 200 words. The question tested the candidates’ ability to
express themselves in the Arabic Language. The question was set from
the topic of Response to Reading.

The question was attempted by 81 (81.00 %) candidates. Among them,
7 (8.64%) candidates had weak performance with their scores ranging
from 2 to 6 marks. A total of 29 (35.80%) candidates had average
performance ranging from 7 to 11 marks and 45 (55.56%) candidates
had good performance and their scores ranged from 12 to 17 marks.
The overall of candidates’ performance in this question was good as
91.36 per cent of the candidates scored from 7 to 17 marks. Figure 14
summarises the candidates’ performance.
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Figure 14: Candidates’ Performance on Question 6
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The candidates who performed well in this question were able to
interpret the given concept as it says that why Sindbad nearly drowned
in the sea on his first trip and how did he survive. They also organised
their thoughts in a good logical flow. Yet, their responses had some
spelling mistakes. For example, one of the candidates wrote as follows:

cpadll ( pald g dagi o Ligtild 5 ) all gus] i copal o (508 ] fadlf Lali
dpasll o G8ats ol Lisiial] (yo Jrsms HLS dodise Laf (56 e (G 5 Lad (o Lnid
28y, 298 ol Lisisal] (g0 o [ (o] M) 0 7 sls (3lats mf ol (5 r o OIS 385 Ll

At (K 004 IS (G AN 5 dailed) ) s ¥ daay ca Slnicad] peansd

cigilly cnill po s Lo i iy o 1Sty «cDig My Sbarisal) i Jllf wLEf Lal g
Sj}&ﬂd‘,—lfc/_;ay/&ﬁcwlcnuafb/aﬁa:M/JJLLJAJ/.,MQ_E@LJ
o (§lat clulyio 5 aid o A Lindl uuat aa g aig il e Alha jlad] lgd cilSy

oy T ey 5y ad) A A gl o s S

“When the merchants lit the fire on the whale, he felt the heat, so he
woke up from his sleep and dived into the sea, so there were those who
survived and drowned. As for Sinbad, he was far from the ship, so he
could not reach it. Thus, he almost drowned if he had not attached to a
plank of wood they brought from the ship for fuel. Sinbad has become
at the mercy of the raging waves.

And when it became dark in the night, Sinbad was certain of doom.
However, he did not despair despite the fatigue and fear that befell him.
He remained in this state all night, until in the morning. The waves
threw him to the shore of an island. There were trees overlooking the
sea. Fortunately, he found a branch of tree, so he clung to it firmly and
manage to reach the island after a lot of difficulties”.

This good performance shows that the candidates had sufficient

vocabulary and knowledge of the Story of Sindbad Bahri. Extract 14.1
is a sample of a candidate’s responses
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Extract 14.1: A Sample of Correct Responses to Question 6

In Extract 14.1, the candidate explained why Sindbad nearly drowned
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in the sea on his first trip and how did he survive. He/she also organised

his/her thoughts in a good logical flow.



Further analysis of candidates’ performance shows that 7 (8.64%)
candidates who scored low marks in this question were unable to
express themselves in Arabic Language. Most of them provided unclear
explanation. On top of that, their responses had a lot of grammatical
and spelling mistakes. This weak performance shows that the
candidates had insufficient vocabulary and limited ability to express
themselves using Arabic Language. Extract 14.2 is a sample of a
candidate’s responses.

é Qt_/"’/\,’> (fé .AAJ\C\;E'(Q __l;\c;\f«)\ NP | 3\{
/ . Al __/ o -

-(\J_,(M_\’\M ._o, JLJ(A’J.‘JA\I\\< QJm/E
Vi

/,u,\c) 0T uwmjﬂ'ﬂ o\ sl s\

I7KLL>) (AT LI B o\, e
(G = U 7

[ 1 . 7
Vm'—'uo"—/'\'\ﬁm =i Ve _9[ NP ¢

& g {r-L'A C_/L_&'D g bl g SN vy et
o= — = o
’ //// R
<:L(/LJ““(‘P (J;’-b—/n Al MJA{(/_B) E/)—L\_/‘S |
L

=
&)L\ne /’rlAn g (~ MSWJ),A\QD‘/I\,‘.J

T, 4 2T LR TN
- r—-.._oxkl vl '\\'C-'—jv.__g ﬁy ’(;ﬂ X—/J&

Extract 14.2: A Sample of Incorrect Responses to Question 6

In Extract 14.2, the candidate provided unclear explanations. Moreover,
his/her explanations were insufficient and had a lot of grammatical and
spelling mistakes.
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3.2.2 Question 7: The Story of the Merchant of Bundiqiyyah

In this question, the candidates were required to explain what happened
to Antonio until he failed to pay debt owed by Shailoki on time. They
were also required to explain who defended him and save him from
being slaughtered. Moreover, they were obliged to point three lessons in
not less than two hundred words. The question tested the candidates’
ability to express themselves in Arabic Language. The question was set
from the topic of Response to Reading.

The question was attempted by 14 (14.00%) candidates out of whom, 7
(50.00%) scored from 12 to 17 marks. Furthermore, 6 (42.86%) scored
from 7.5 to 11.5 marks while only 1 (7.14%) scored from 2.5 to 6
marks. The candidates’ general performance in this question was good
because 13 (92.86%) candidates scored from 7.5 to 17 marks. Figure 15
summarises the candidates’ performance in question 7.
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Figure 15: Candidates’ Performance on Question 7

The candidates who performed well in this question demonstrated and
justified the statement given. They also provided appropriately three
lessons from the case between Antonio and Shailoki. Moreover, they
demonstrated the ability to express themselves in Arabic Language. For
example, one of the candidates wrote as follows:
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“Antonio agreed with Shailoki to return what he took from Shailoki in
advance after three months. If he is unable to pay what he took within

the agreed time, he would allow his rival, Shailoki, to cut off a pound of
his flesh from his body.

When Antonio was waiting for the return of his ships, news came to him
that all his ships had sunk and all his goods were lost. In this case, it was
impossible for this noble merchant to fulfil his debt to Shailoki on the
agreed date. Shailoki seized this opportunity to take revenge on his
sworn enemy and insisted on asking him for a pound of meat from the
city of Antonio.

With the ingenuity of the lawyer and the justice of the judiciary,
Shailoki came out dragging the tails of disappointment and defeat and
bit his fingertips in regret when he wanted to cut off. I turned away from
my Lord and accepted what He offered Basniu six thousand dinars.

Three lessons

- When we borrow, let us know that anything can happen, so we
should not make impractical promises that harm our lives.
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We need to sympathize with the people we lent, instead of

oppressing them when they get into trouble.
- Lawyers are important people in administering justice”.

This good performance suggests that the candidates had sufficient
vocabulary and knowledge of the Story of Merchant of Bundigiyyah.
Extract 15.1 is a sample of a candidate’s responses.
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Extract 15.1: A Sample of Correct Responses to Question 7

In Extract 15.1, the candidate explained what happened to Antonio until
he failed to pay debt owed by Shailoki on time and who was able to
defend him and save him. He/she also provided appropriately three
lessons from the case between Anfonio and Shailoki
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On the contrary, the candidates with average performance provided
insufficient explanations about what happened to Antonio until he failed
to pay debt owed by Shailoki on time and who was able to defend him
and save him. Furthermore, they failed to provide three lessons we can
learn through the case of Antonio and Shailoki. Moreover, their
responses had a lot of a grammatical errors and spelling mistakes.
Hence, they obtained an average performance.

There were also candidates with weak performance in this question.
They had limited ability to express themselves in the Arabic Language.
This thing led them to provide insufficient and unclear explanations in
their responses. Moreover, their explanations had a lot of grammatical
and spelling mistakes. This weak performance shows that the candidates
were incompetent in Arabic Language. Extract 15.2 is a sample of a
candidate’s responses.
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Extract 15.2: A Sample of Incorrect Responses to Question 7

Extract 15.2 is a sample of part of responses from a candidate who
wrote insufficient explanation. Moreover, his/her explanations were
unclear and had a lot of grammatical and spelling mistakes.
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3.2.3 Question 8: The Story of the Merchant of Baghdad

In this question, the candidates were required to explain how did the
case of Ali Koja and his friend Hassan, a businessman, reached the
judge and how did the judge of children judge during the play in not less
than 200 words. The question tested the candidates’ ability to build
capacity of expressing themselves in the Arabic Language. The question
was set from the topic of Response to Reading.

The question was attempted by 97 (97.00%) candidates out of whom, 7
(7.22%) scored from 2.5 to 6 marks; 35 (36.08%) scored from 5.5 to
8.5 marks and 55 (56.70%) scored from 12 to 18 marks. The overall
performance in the question was average as 93.50 per cent scored from
12 to 18 marks. Figure 16 illustrates the distribution of candidates’
scores on the question.
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Figure 16: Candidates’ Performance on Question 8

The analysis shows that, 55 (56.70%) candidates who scored high marks
understood the demands of the question. Furthermore, they explained
appropriately how the case of Ali Koja and his friend Hassan reached
the judge. Moreover, they explained how the judge of children judged
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during the play. Hence, they deserved high scores. For example, one of
the candidates wrote as follows:
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“And when the prayer was over, Ali Koja hurried and stopped in the
road that the caliph was passing by, waiting for his procession.

When the Caliph approached him while he was in his convoy, Ali Koja
raised his hand with his complaint in it, so the chief of police
approached him and took from him the paper containing the complaint.
After reading the complaints of the complainants, he ordered Ali Koja
to come to his palace to judge between him and his opponent.

After the children's judge listened both sides. The merchant Hassan
wanted to tell lie, but the empty-handed man could not speak. Rather, he
said to him: Shut up, you are a liar. Therefore, he decided to be
crucified as a penalty for his betrayal. The children rushed to the
merchant Hassan. They violently grabbed him, pretending that they
were going to crucify him as the judge had ordered.”

This response implies that the candidates had a good command of
Arabic Language. Extract 16.1 is a sample of a candidate’s responses.
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Extract 16.1: A Sample of Correct Responses to Question 8

In Extract 16.1, the candidate explained how the judge of children
judged during the play, although, there were some spelling mistakes.

As for the candidates with average performance, they provided
insufficient explanations. Moreover, their responses had a lot of a
grammatical errors and spelling mistakes. Hence, they obtained average
scores.

Furthermore, the candidates with weak performance in this question,
had limited ability to express themselves in the Arabic Language.

Moreover, their explanations had a lot of grammatical and spelling
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mistakes. This weak performance shows that these candidates were
incompetent in Arabic Language. Extract 16.2 is a sample of a
candidate’s responses.
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Extract 16.2: A Sample of Incorrect Responses to Question 8

In Extract 16.2, the candidate wrote insufficient explanation. Moreover,
his/her explanations were unclear and had a lot of grammatical and
spelling mistakes.
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4.0 ANALYSIS OF CANDIDATES’ PERFORMANCE IN EACH TOPIC

The candidates were assessed in eight (08) topics in the Arabic Language
subject in ACSEE, 2023. These topics were Comprehension; Grammar;
Language Use; Morphology, Composition,; Rhetoric, Literature and Response
to Readings.

The analysis of the candidates’ performance in each topic indicated that the
candidates had good performance on Language Use (86.00%) which was tested
in Question 3, Comprehension (83.67%) in Question 1, Grammar (81.05%) in
Question 2, Morphology (68.06%) in Question 3 and 4 and Composition
(67.49%) in Question 6, 7 and 8 in Arabic Language paper 1.

Furthermore, the analysis of the candidates’ responses in each topic revealed
that the candidates had good performance in Response to Readings (92.33%)
which was tested in Question 6, 7 and 8, Literature (70.20%) in Question 3, 4
and 5, and Rhetoric (67.26%) in Question 1 and 2 in Arabic Language paper 2.

These candidates performed well in these topics because they had adequate
knowledge and clearly comprehended the demands of the questions. This
implies that the candidates scored an average of 35 and above in those topics.

The summary of the candidates’ performance in different topics is presented in
the Appendix.

5.0 CONCLUSION

The candidates’ general performance in Arabic Language in the ACSEE 2023
was good (76.99%). The candidates who had good performance demonstrated
their sufficient knowledge of the tested topics and mastery of the Arabic
Language. Their knowledge and skills enabled them to understand and identify
the requirements of the questions and respond accordingly.

However, few candidates who performed weakly had insufficient knowledge of
the tested topics and low proficiency in Arabic Language. Hence, they provided
unclear and ungrammatical responses.
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6.0 RECOMMENDATIONS

In order to improve the performance of the candidates in Arabic Language in
the future, the following recommendations need to be taken into account:

(a) The topic of Rhetoric which appears to be more difficult for students should
be taught with many examples, group discussions and group assignments to
ensure that students learn from one another.

(b) Students should be guided to read questions carefully in order to identify
the requirements of various questions. This will overcome the challenge of
the candidates’ inability to identify the requirements of the examination
questions.

(c) The use of Arabic Language in schools should be given priority to teachers
and students. This will enable the students to master the language skills,
including writing which is important when responding to the questions.

(d) Teachers should organise writing essay competitions and debates in Arabic
Language. Students should participate and practise in order to acquire self-
expression skills in Arabic Language. This will build into them language
competences.
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A comparison of the Candidates’ Performance in Each Topic Between ACSEE
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Appendix 2

A comparison of the Candidates’ Performance in Each Topic Between ACSEE
2022 and ACSEE 2023

2022
100 2023

o O
o o

|
o

60
50

Percentage of Candidates

97






	FOREWORD
	1.0 INTRODUCTION
	2.0 ANALYSIS OF THE CANDIDATES’ RESPONSES IN EACH QUESTION IN ARABIC LANGUAGE PAPER 1
	2.1 Section A: Short Answer Questions
	2.1.1 Question 1: Reading Passage and Answering Questions
	2.1.2 Question 2: Rules of the Arabic Grammar
	2.1.3 Question 3: Arabic Grammar
	2.1.4 Question 4: The Rules of Morphology
	2.1.5 Question 5: The Rules of Morphology

	2.2 Section B: Essay Questions
	2.2.1 Question 6: Letter Writing
	2.2.2 Question 7: Essay Writing
	2.2.3 Question 8: Essay  Writing


	3.0 ANALYSIS OF THE CANDIDATES’ RESPONSES IN EACH QUESTION IN ARABIC LANGUAGE PAPER 2
	3.1 Section A: Short Answer Questions
	3.1.1 Question 1: The Eloquence and Rhetoric
	3.1.2 Question 2: Simile, Metaphor and Metonymy
	3.1.3 Question 3: Literature (Poem)
	3.1.4 Question 4: Literature (Prose)
	3.1.5 Question 5: The History of the Arabic literature

	3.2 Section B: Essay Questions
	3.2.1 Question  6: The Story of Sindbad Bahri
	3.2.2 Question 7: The Story of the Merchant of Bundiqiyyah
	3.2.3 Question  8: The Story of the Merchant of Baghdad


	4.0 ANALYSIS OF CANDIDATES’ PERFORMANCE IN EACH TOPIC
	5.0 CONCLUSION
	6.0 RECOMMENDATIONS
	Appendix 1
	A comparison of the Candidates’ Performance in Each Topic Between ACSEE 2022 and ACSEE 2023
	Appendix 2
	A comparison of the Candidates’ Performance in Each Topic Between ACSEE 2022 and ACSEE 2023

